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AUJhYVL 6. NeATNRULELD GLUSUSNRUT
0ruHudNe MUsTULLELNMT

LwdGh pnjuwlbnuwlnipniln

= NpnpmuiGtph yuyugiwb swthwlhyGhp,
= [Yhulh gGwhwwumny,

= NpnpmudGhph own,

= ‘LhpnpnuiGiph thwpbiph fulinhp:

UNkRSL

dwiwlwyhG L dhpwn npnpnuiGph (YShnGtph) pgniGniip wdtG dh wlhwwnmh
L hwnjuytiu ntyuyjwnh hwdwnp Jwnm Juplnp fulnhp £: Quonp npnpmd Jujwg-
(iijhu wGhpwdtywn £ oquuugnpot) pnnp hGwpwynp dhongGtpp «quywgne)i» npn-
onuip qubbknt hwdiwn:

NpnynuiGtp ujwgGtjhu wihpwdbyn L hunwly dhwytputy, pt h6; L Gpw-
Guynmi «quuqgniji» npnpnud, md hwdwp £ w6 jwgwgniyyG L hGy Guumwynyg k
nlnniGynud: UhllnyG hpwyhdwymd npnpnud plgnilnn mwppbp wldhlp Jupnn
L0 Juywglt] dhdjwlghg mwnpptn, hul hwdwfu Gul hwliwnhp npnpmuiGhp: Uju
hiwuwnny «ujuqgniyl» npnpmiGhph plnniGnudp yuugwo b npnpnuiGhp pGgnilng
widh GwhiwywwynipnGitinhg, Gpuw hbnwylnuo Guuwmwyltphg, thnpdwnni-
pjntGhg L wy unipjtijnhy qnponGGtphg: Lwuguaqni)G npnymyd widnp Jupnn b plgnelty
hGswtu GeppipnGiwl, npuiwpwliwlwl, wylybtu £ nwppbp dwpbiwmhlw-
Juwl (puwlwluwyub) tnubwybitph oqlinipjup:

UGYwiu npnpnuiGhp plnniGng widh Guppwyuwnmympimbitphg L ogqumugnpo-
ynn inuGwyGtnhg, «qujugnii» npnynuiGhn ujugibnt hwiwp wihpwdbyn t°

o QLutipyty moynn hhiGwhwpgh GuumwyGbpp

e [(wnpb) npnpnuiGtiph qGwhwwniwG suthwlhy Ghpp

e (Ipn)t hhiGwhwnpgh modw G hGupwynp mwpptpuyGtpp

e 3nipwpuwlsjnip mwppbpwih hwdwp julGuwnbtut] hGupwynn Giptpp

¢ Q.(Gwhwwnt] wnwGdh( Gptinh wpnymGpGtpp

e Cumn npywd swthwlhyGph pnnilty «uyuagnyi» npnpnwiGepn:

NpnpmuiGph pynmiGiwG fuGnhpGipp L gpulg modwl tnulGuwyltpp Jwn
pwqiwqui t6: Uy fuGphpGbpp jupnn 66 quuwljupqyt)] pun mwuppbp hwjnw-
GphoGtph: OppGwl pun npnpnuiGtiph qGwhwwmdwb swhwlhyGiph pyh, mwpptpnd
G0 dhGwswthwlhy L puqiwsuhwGh) npnymiGhph pgnGiwl fulnhpGtp: Cun
winpn)mpjnGGtph gnponGh” mwppbpnd GG npnwihnmpjwl L wlinpn)nipjniG-
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Gtph (i nhuywjhG) yuwjdwbbiipmd npnynuiGtph Jujwgdwl fulnhpltp: Opn-
wlhnipjul ywjiwGGipnmd npnpnudGhph jujwgdwb fulnhpltpp plnpnyymy GG
noynn fulnnh dwuhG wipnnewlwl L hwjwuwmh mtntwunynipjwl GEipdindyw-
ontpjwip: Gpypnpn nuuh fulighpGbipp pun winpn)mipynmGatph mtuwyh pwdwi-
Ynud 6 hwjwlwuwlwjhl, «pGuluwi» L yupph winpnynipmGatpny fulinhpGtnh:

Cun npnpnudGhp pGnniGnnGiph pyh mwpptpmd G6 Gwb npnpmd Gaph wé-
hwunwutiu L fudpnyp plgniGdw b fjulnhpGbp:

Utilip Ynhmwnytlp wlnpnympjmGGatph (rhuyh) wuwydwbibpmd, dhiwswuthw-
Gh2 L GpyywithwGhy wihwnwlwb npnynuiGbph pnniGiw b fulinhpGipmyd oguw-
qnpoynn swthwGh) GGpp, L jwjuagnyyG npnynidGtph pGgniGiw( tquwGwlGepp:

1. ArneNrULErLh GU3USUUL QUOULRELEN

NpnonuiGlp JuywgGbjhu wihpwdtpn & wowelnpnyt npnpwh swuthwGh)-
Gtpny: Gpt npnpqwo GG hhdGwiulnph Guuwumwlylbpp, wyw npnpnudltp plgne-
(innG pGupnd £ hGupuynp npnpnudGhph ((nonwiGhinh) qGwhwnmdwl yuthwGh)-
Gtpp L jwywgnyy G npnpnush juywgiw G tquGuyGbpp: Uklp Ynhnwnytlp

o wnwlig pbhph hwjwlwlpuGmpmG0aph wpdbplaph oquuugnpodwl (fud
Ywnph whinpnpmpym GGapny) npnpnidleph Qupugdd fJulinhpnGbp:

o Lphph hwjwlwlwlnpniGGaph wpdbplbph oquuugnpodwdp (wd huw-
YywlwluGuhl winpnpmpiniGGh5pm]) npnpnidGhph upugdwl fulinhpGsn:

dtnpl wuwop pGGwpytlp htnlyw) oppGwyny:

OphGuy 1: Glpwnpblp nmp hwiwlwpgswjhG mbfuGhljujh wnp L Juwdwnph
«UnitGhpuy dtinGupynmpjul wmboptGl tp: <wdwjunpnltph wwhwlownpyp pujw-
punptm hwdwp wdbG pwpwp pnip GEpdneond Gp npnpwiih pwGwynpjudp wlhw-
nwlul oquugnpotwl hwdwljupghsGtn: “Lwfunpn Jwpwplbtph hwdwlwpghsGaph
wwhwGownyh yhdwugpuyub wmyjuyGtpp pipgwo 6 1-h6 wnynmuwym:

Qhgnp nnip wyn hwdwlwpghsGipp Junpnn Gp dtnp pipky Wby hwwnp 300000
npnuiny L yudwnt; 350000 nnuiny: Npuytiugh dtnGupynipmniGp uy hwdpu mGhGu
nmp wpfuwwnnd Gp hwdwhunpliphl wowownyty hwiwywnpghyGhph GnpuqgneG
mbuwuwlh: JtnGwnpympjwl dpgniGuwynipjul yuwhywiiwl L gpuiwyub dhong-
(tph wpwq 2powlwnnipjul wwywhnydwb Guyuwmuyny pwpwpyu plpugpny shpwg-
Jwo hwiwlupghyGtpn Jwpwpyw Yyipgmu nnip Judwnmy bp huwnp 280000 npuuuiny:
Snipwpwlgmp pwpwp nup Jupnn tGp Gepdnoty 1-hg 5 wihwnwljul oquugnpd-
Jwl hwiwuwnghs: Unnuwwy 1-nud pipguo G0 hwdwjupghyGhph pwpwpwub wuw-
hwGownyh hwdwhwwlnmpymGGtpp (Juwdwnph hwywGwlw GmpnGGtpn):

Muwhwloymu & npn)by wikl pwpwp Ghpdnoynn hwdwjupghs Ghph pwGuyp:
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Unjyniuwy 1

{wiwlwpgh;Gtph wpwpwwb
1 2 3 4 5

wwhwlownlp

Jwdwnpph hwiwuwlwlnip nlp 5 10 15 15 5

Jwdwnpph hwpwptpuwjwl hwiwhuwlw-

G(npnilp (hwjwlwywlnipjniln) 0.1 102 103 103 101

dbtpp ppdwo fulnhpp YnunmdGuuppblp npnpynuiGiph plgniGiwl mwppbp
swthw(hpGhph oqlinipjwdp:

Lotlp, np wlnpmnipjwul wwyiwGGbpmy npnpmy Yuwywglbjhu (pwlh” hwdw-
Juwnghs Gepdnioly) nmp stp Junpnn yipwhuyt) npwlg hmiwyuwmwujuwG tjpt-
nn (pwlh® hwdwlwpghs jwdwmip), puGh np ngputp wwjdwGuwynpwo GG
hwdwhnpnltph ywhwlownyny: Uyuhlpl nhunwnpliynn fulnpnnmd npnpmuiGiph
tiiptipn wGnpnynipjmb qnponGGtp Ga:

LwjuwqgnijG npnuwl pGupnipjwl hwiwp uqutlp hGuwpwynp nuonwdGhph
L hwiwwywwnwuluwG tptiph A= ||a;|| dwwnphgp, npuntin a;-6 Gipdmodw( (npn)-
dw() i =1, 2, 3, 4, 5 Lj tiph (Juwdwnph) j =1, 2, 3, 4, 5 nhiypmd Glwdinunp Jud
Unpniuunp wpdtipl £: OphGuwy, a;4= -10000 ngpwy, npnghtinle Gipdntogwo t 4 hw-
dwjupghy, huy ywdwnyty & 1 hwdwlwnpghy, htmlwpwnp tptip hwiwywnpghy pw-
puwpyw ytipond yudwnyby GG huwwnp 280000 npud: UpnyniGpnid niGhGp Ynpniuwn’

+ 50000 — 60000 = -10000 (npwv):

Qhunwpyynn fulnph pninp GludmnGeph (YnpnuunmGhph) wpdtpGhpp phpguo

LG 2-pn wnynuuwynud:

Unjniuwy 2
YJwdwnph hwidwp Ghpdntdodwo hwdwlwpghs-
{wdwlupghybph ywpwpu-
(it wlwln (hGwpwynp npnynuilb
Y wwhwGowplyp Illllp_ 11%( n %n 2 y np) -
1 50000 | 30000 10000 | -10000 | -30000

50000 100000 | 80000 | 60000 | 40000

50000 100000 | 150000 | 130000 | 110000
50000 100000 | 150000 | 200000 | 180000
50000 100000 | 150000 | 200000 | 250000

Qunltlp pulnph qwjwagnyl onwiGhpp npnynuiGtnh plgniGdwl nmwpptp
swthwGhyGhph nhiwypn:

(SR E SN LVS] | 8}

1.1 Uwpuhdwpuh swithw(h)

Uwpuhdwpuh swthwGhph nhypmy jwywagni)G npnpnidG pGunpynud £ wnwyb-
(wgniyG Giwinunh dwpupdwgiwl wuwjdwlhg: Uygpmd, pun GudmwmGhph A
twnphgh winnbiph, npgynud GG Max(a;;) -pp, wjlnhtanl’ max max (a;;) wuwjiwdhg

J i j

niunpynud £ jugugniG npnpnuin: 3-pn wngnuwynd piipduo 66 pnpnp hGupwynnp
npnpnuiGiph hwdwp wonwytjugnyyG GiwdinmnbGbpp: bGywbu Gpund £ wnnmuuw-
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Uhg, wju wywwmbuwluwl swihwGhyh ghypnd wikl pwpwp dunlGuwpynipinilp
wtwnp t Ghpinioh 5 hwiwywnpghy:

Unjniuwy 3
Cwpwpyuw ppugpmu Ghpdniogwo Cwpwpwul wnwytjugnt)i tuwdnunp,
hwiwlwnghsGtph pulGwyp ()
1 50000
2 100000
3 150000
4 200000
5 250000 < wnwybjwagniji

‘Lotilip, np GdwG yuthw(hyh nhiypnd, tpp npnpmdG plnniGynd £ pun hGuw-
nwynp wnwytjugny)G Gudinunp dhonpjul L wlimbuynd GG djniu mwppbpuly-
Gtpn, pnnGywo npnynudp yuuwd k dkd nhuyh htin L hwdwywwnwufuwlnd L
fuwnuuingh Jupph:

1.2 UwpuhdhGh swthwGho
UwpupihGh (hnntntuwlul) swthwlhp hwiwywumwufuwlmd b qqniyp npn-
ond plgniGnnh JupphG: Uju ghiypmd plgniGynud t wyjGuhuh npnpnud, npp dwpuh-
dwglnud k GJuquqgnyyl tyudnunp: Uygpnd wdbl niodwl hwudwnp qubynd k
mjiﬂ(aij) -G, nphg htann max min(a;;) wwjdwGhg pGunpymd k judwugnyG npnynudp:
i

Shunwplyynn ophGwyh hwdwp hnntnbuwluwl npnpmuiGiphG hwdwwywnwufuwd,
(JuwqugnyyG GluinunGtph wpdbplGtpp ppdwo GG 4-pn wnynuuwynud:
Unjnuwy 4

Cwpwpyuw plipwgpnid Ghpdinioyw o Cwpwpwlwl Guquagniyl
hwdiwlungqhsGtph pwGuyn Gwinunp, (npud)
1 50000 < wnwybjwgnijln
2 30000
3 10000
4 — 10000
5 — 30000

Uyu swihwlhoh hwdwdw)l npnpnud plgniGtym ghiypmy dtnGunynipmip wdka
wihu whwp t Ghpdmoh vty hwiwlwnpghy:

1.3 UhGhdiwpuh swthwih)

UhGhdwpuh swthwGhph nhypmd plyniGynd £ wjlGuhuh npnynud, npp dhGh-
dwglmy E wnwybjuagnyyG hGuwpwynp YnpnuumGhpn:

Uju nhypnmd A dwwnphgh wmupptpp gnyyg GG vwhu vmwpptp momdGhph
tiptph( hwdwwwwnwujuw lng hGuwpuwynp YnpniunGhph wpdbpGbpn:

Uyqpnud popnp nuomiGtph hwdwnp hwygupyynud 66 wnwytjugnyyG Ynpniun-
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Gtiph wpdtpltipp’ mjax(aij)—ﬁ, wjGnthtinl pGupynud k m?X(aij) -h GJuquqni)G
wndtipl wuywhnynn nomuip’ miinm}’;lx(aij)-ﬁ:

OnphGuwy, tpt hwdwunpghyGtph ywwhwiownpyp hwjwuwn k 2-h L dtnGup-
YnipjmiGp Ghpdniot) £ 2 hwdwlupghs, wyw Gpuw Giuwdnunp Yuqdih 100000
npuu: Gpt Gny0 ywhwlownyh nhypnd dtnGunpympniln Ghpdnot) & 3 hwdw-
Junghy, wyuw Gpw Giudninp Yuqih 80000 npuy, huy hGuwpwynp Ynponiuwnp
20000 npuwu: Uju 20000 npuip wijuwimy G0 pug pnplywd Giudnm Wwy AGw-
pwinp [npoiuu:

Qhunwpyynn fulnpnud” ufuw npnpmdGtiph ghiypnd hGwpwynp YnpniunGtpp
wndtipGtipp pipdwo GG S-nn wynuwynd, huy mwpptp Gptph hwiwp wnwyt-
1wagnt)G hGupuwynnp YnpniunmGhpp’ 6-pn wnyniuwynud:

Unnuuwy 5
LGupuynn Gptipp. Jwdwnpph hwiwp (hpintoduwo hwiwlwnpghyGtinh
hwiwlwnghGtph pw- pwGwyp (nonuiGtph mwpptipwybtip

pwpwlul yuwhwGownplp 1 2 3 4 5
1 0 20000 40000 60000 80000
2 50000 0 20000 40000 60000
3 100000 50000 0 20000 40000
4 150000 100000 50000 0 20000
5 200000 150000 100000 50000 0

bGywbu Gplod L 6-pnp wnnuuwyhg, wju swhwbhoh ghyypnd jwywagniG
npnynuip hwdwywnmwufuwlnd b wpwpwlwl 4 hwiwjwpgsh Geipdnmodwln:
Unjnuwy 6

Cwpwpyuw plpugpnud Gpdnioywo | Cwpwpyw plpugpnd wnwytjuagny)i
hwiwlunghsGiph pwGwlyp hGwpwynp Ynpniuwnp, (npuad)

1 200000

2 150000

3 100000

4 60000 «—GJuquqgnijGp

5 80000

1.4 Qmpyhgh thnfugh9niwjhG ywthwGhp

Gpt dwpuhiwpuh swthwGhop hwiwwywwmwufuwlnd L npnpnuiGtph Jujwg-
dwl jwjwnmbtuvwlwl dnnbgdwlp, huy dwpuphdhGh swthwlhip hnntntuwlwl
dnntigiwln, wyw Gmpyhgh swhwlhyp hwiwywumwupwlnd E hnfughgniiw-
JhG dnntigiwn:

LwywqgntjG npnpuwl pnniGiwl wju hnnhntuwjuwjuwuntuvwywl swuthwGhh
ntypmy uyqpnd jnipwpwsynip hGwpwynp nuodwl hwdwp pGupynd  hnnk-
wmbunipjul h gnpowyhgn, npG wpdtipltp L pnmGnd [0,1] Showlwjphg, wylni-
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htinl GuimwuGtph dwwnphghg npnpymu G0 hnbjw wpdtipGtpn
hmjinaij+(1—h) mj_axaij; (1.1)

LwywqgnijG npnpmudG plnniGynd £ htimbyw yuwjdwGhg.
max[h mina;; + (1 —h) maxa;] : (1.2)
i J J

Znipyhgh thnfughgmiwghG sunhwGhyh niypnd jmpupwGsmp modwl hwdwp
ulqpnid hwpynud 66 jwywanyyl b JunmwgnyG mwpptpulGtpp: UjGmhtnl, puqiw-
wwunytiny hwdiwwywwmwufuw Ypnwjhl gnpowyhgltpny h-ny L 1-h-ny (1.1) pwlw-
Al npnynud GG qnuiwpughG shohG wpryniGpp: LwdwanyyG npnpmdG pGunpynd L
hwdwadwyG (1.2) swihwGhph: Ghnwpyynn fuligph hwdwp hnobnbunipjul gnpowyh-
gn, GjudnmunGbph juywagniyG b quunwagniyG wpdtpltpp pipdwo GG 7-pn wnynuuwynud:

Unynuuwy 7

Cuwp. pipugpnmyi Cuwpwpwlul . ih > Clnwdtlp
Gbpinoqwo hw- | bywdnunp (npud) 2nwjhG h gnpowyhgp (Z'LupLup/IHlulﬁ)
dwljuinghsGtph - - hmina; + (1-h) maxa;
min a; max aj; hminaj (1-h)max aj j j
pwlwlp
1 50000 50000 20000 30000 50000
2 30000 100000 12000 60000 72000
3 10000 150000 4000 90000 94000
4 — 10000 | 200000 —4000 120000 116000
1
5 —30000 | 250000 — 12000 150000 38000 <
wnwytijuaqn)Gn.

Ujuntn GJuquagni)G Gudimunmb vnmwgymu E oty hwiwyuwpgsh Gepdniodw i
ntiypnud, huy wnwybjugnyyGp’ 5 hwdwwpgsh nhypnd: Gpb hnnbwntunipjuG h
gnpowyhgn hwjwuwnp k£ 0.4-h, wyw pun Gnipghgh swthwGpoh, jujwgniyG npng-
dwlp hwiwywunwuuwlnd £ 5 hwdwlwnpgsh Ghipdnidonudn:

1.5 Ulihgh wihunuwGph swthwGh)

UhGhdwpuh swthwGhyp wjlpwl «hnntunbuwlwi» b, np hwdwu Jupnn L
ptint] ny mpuiwpwlwwl npnpnuiGhph: Ulhoh swthwGhop poyp L mwhu nignty
Jhdwyp YnpmuwnGtph Gnp B dwwmphgh Gopdnmodwdp: B dwwmphgp Yngymd k
«wthunuwph» dwwphg, huy Gpuw nwpptpp gnyg GG mwihu «ppuyuwi b wdkliw-
pwptiGuywuwn monuiGtph thol» «wthunuwlph» wpdtpp: B dwwnphgh b mwpptipp
nnn2ymd GG htinlyw) pwlwdlhg

max (a,;) —a;, bpb a; bjwdimw &
by = aijk—mkin(akj), tipb a; Ynpniuwn L



PUJDhU 6. NPNCNRULELD LUSUSNRUC NhULGUY NN NMUBUULLELNMT 115

Uyuyhuny, by-tipp wpnwhwjmnmy 6 npnpynud plnnilnnh «wthunuwlpp», tpp
Gw j Gph nhwypmd sh plnmGtp wwgnyyG npnpnid: Ulhoh swthwlhph nhiypnid
wilywfu Gpulhg, pb A dwnphgh a; mwpptipp GudnunGp G6, pt ynpnwunGhp, B
dwwnphgh wwppbpp YnpoiunGip G6: <tmbwpwp Ulhoh swthwGhph nhwypnid jw-
Jwqanijl npnpnuip plgniGynud £ dhwjG shGhiwpuh swthwGhoh oqlmpjudp.
miinmjax(bij) :
Utin fulinpnud jujwgnyyG npnynud E 5 hwdwluwpgsh Gepdnioniin:

Ujdd nhnnwpyblp winpnympjul wyuwydwbibpmd npnpnuiGtph pgniGiwG gw-
thwGh Gtpp, tpp hw)yh 66 wnlynd mwppbp Gptph hwywGwlywingpjmGGtpn:

1.6 Unwybjuqn)G hwjwlwlwbinipjub suthwih)

Uju swithwlhph ghypnid jwjwuagnyG npnpnudG pgniGynid £ hwiwédw)G wik-
(whwywlwlyuwl tyuwinunbitnh dwpuhdwgiwb wuwjdwbh:

<hptgltlp, np phnwnpyynn fulinpnid hwdwwpghyGiph wwhwGowpyh hw-
JuwliwuwlmpjmGGipp mpdwo GG 1-h6 wnniuwynid:

UnwytjugnyyG 0.3 hwjwlwlwlnipjnilp hwiwywunwufuwlmd k3 U 4 hw-
dwlwnpgsh ywhwGownpyhG: Uydd nphunwnpytlp wju Giptph hwdwnp Giuwdinunlepp
L pGunptlp npwlghg wnwybjugniylp ( mb'u. wy. 8):

Unjniuwy 8
Cwpwpyuw. plpugpnid
GEpumoywd hwdwwp- Cwpuwpyuw wnwybtjuwagnijl tjwinunp (npu)
qhyGtiph pulwuyp
3 150000, tpp Gipuiniogwd k3 L wybih
4 200000, tipp Gipunioywo k4 L wyth <—wnwytjuwqgni)ip

Lhpnionipjnilhg htimlnd E, np wyu swhwGhph nhypnid dtnGupynipynmip
wtwnp E Ghpdnioh 4 hwiwywnpghy:

1.7 UhohG wndtiph oujmnhdwgiwG suthwGh)

NpnpmuiGhph  plpmGiwG fubGphpGtipnd hwjwlwyuwlnpmGGaph oquw-
gnpoiwl wikfwunwpwoywd tnuiuyp Giudmunibph juwd YnpniunmGeph shohG
wndtipltiph owywmhdwgniiG E: LwjwqnijG npnynidl pGunpynd © hwdwdw)6 shohG
Bywinmnh dwpupdwgdwl uwd dhohl Ynpniunh shGhdwgdwb suthwlhph:

Qhunwpyynn fulnph hwdwp oqunytilip dhohlG GlwimwuGbph dwpuhiwgiwl

swihwGhyhg: Ghgnip E(m)-p ShohG twdinunG & E(m) = ZZlmipi :

Ujuntin m-G L pi-G i-pn Giph Guwdnunh b hwjwGuwywlnipjul wpdtpltpl
LG, huy n-n’ Gptph pwGwyd k:
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Unjyniuwy 9
Sunfulupghy- Cwpwpyuw pipugpnud Ghpimoywd hwiwlwnghsGhph
Gtph pr{frp él ) pwlwlp (nuonuiGhph mwppbpwyGtip) Zuu -
Cwpwpwlul tlijuwdnunp (npu) Gulw-

Jul hGupwynp GrupmG

wwhwGownlp 1 > 3 7 5
1 50000 | 30000 10000 | —10000 — 30000 0.1
2 50000 | 100000 | 80000 60000 40000 0.2
3 50000 | 100000 | 150000 | 130000 110000 0.3
4 50000 | 100000 | 150000 | 200000 180000 0.3
5 50000 | 100000 | 150000 | 200000 250000 0.1

Uju fulinpmud 5 hwdwuwnghsGtph GipdniddwG nhiypmd E(m)-h wpdtipG &
E(m) = 0.1x(=30000)+(0.2x40000)+(0.3x110000)+(0.3x180000)+(0.1x250000) =
=117000 (npwd):

UjuhlpG’ pwpwpwjul vhohl Ghuwdnunp Yywqih 117000 npud: 9-pn winjniuw-
ynd pipdwo GG mwpptp npnpnudGinh giypnid dhohG Gwdmmh wpdtpGtipp:

hGswbu httmlmd t 10-pn wnyniuwyh wyjwGbph yepnionpjnilihg, vyywubih
tluwinunGiph wnwybjugnyG wpdtpp hwjwuwn £ 130000 npuidh: LwjwqgniyG
npnydwln hwiwywunwupwimy £ 4 hwiwuwpgsh Gipdnioniudn:

Unyniuwy10

LGwpwynn Gptpp. hwdiw- Cuwpwpyuw plpugpnud Gpdnioywo hwdwlwnpghy G-
YupghyGtph wwhwwnlp pp puGuyp nionuwiGhph wwpptipwulitin)
2wpwpyw plpwgpnid 1 2 3 4 5
1 50000 3000 1000 — 1000 —3000
2 10000 20000 16000 12000 8000
3 15000 30000 45000 39000 33000
4 15000 30000 45000 60000 54000
5 50000 10000 15000 20000 25000
Cuwp. uyuwu. Gjwdimwun® E(m) 50000 93000 122000 130000 117000

UnpnuunGiph dhGhiwgiwl ghiypnid ogqmymd GG YnpniunGph wnynuuwljhg
hGwnpwynp Gptiph hwJwlGwywnipniGitnhg (wnnmuwy 11):

Unjniuwy 11

Swpwpyu wwhuw- Cwpwpyw plipwgpmu Ghpdniodwo hwdwup- | <wujwlw-

ghsGtph pwGwyp. hGwpwynp Ynpniuwnp Juni-

ownyp (biptpp) 1 5 3 4 5 pm6p

1 0 20000 40000 60000 80000 0.1

2 50000 0 20000 | 40000 60000 0.2

3 100000 | 50000 0 20000 40000 0.3

4 150000 | 100000 | 50000 0 20000 0.3

5 200000 | 150000 | 100000 | 50000 0 0.1
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blywtu wntulnu tlp 12-pn wnynuwlhg, ghunwpyynn fulnpnd GuqugniyG
Unpniunp hwgwuwn £ 25000 npuidh: Uyuhlpl® wyu ghiypnid Lu jujwagnyyG jnuo-
dwlp hwiwywwnmwuuwlnd | 4 hwdwwpghyGhph Gepinionuip:

Unjnuuwy 12

Cuwpwpyw plpwgpmu Gepdnioywd hwdwlwp-

<Gwpwynp byptp it i ha
Cwpwpu wwhwgwnlp Qs - pp pw wzlm. wp;uqnp unnr:um -
1 0 2000 | 4000 | 6000 | 8000
2 1000 0 4000 | 8000 | 12000
3 30000 | 15000 0 6000 | 12000
4 15000 | 30000 | 15000 0 6000
5 20000 | 15000 | 10000 | 5000 0
Cwpwpyu uuubih hGw- 66000 | 62000 | 33000 | 25000 | 28000
pwynp Ynpniuwnp' E(m)

LwjuqnGG* wyl npnonuiG k, npG wyyuwhnynd £ GJuquqmG dhohl Ynpniuwm:

2. {UJUUSh S6A6UUSUNME-3UL ULdEL

NpnpmuiGhph pgniGiw G fulnhpGipnd wlnpn)mpjnilp Yupbih £ hnppuglty
Inugnighsy mbntynpniGGtp hwjwpbny: <wuljwlwh b, np Giwl mbnbjuwnyn-
pjwl hwdwnp hwpluwynp £ Jdwpt;: U6 wnwybjugniyG gnudwnpp, np Gdwl nhy-
pmd whwp L Yydwpt] Juqind £ hwjwunh mtnbjunympjuli wpdtpp: Gph
(wfuopnp hwjwnGh E, pt hGywyhuh Gip Jhpwwlwlw, wyw Junpbih £ plgnGyg
wjlwyhuh npnpmd, npl wwywhnyh wnwybjugnyyl Gyudinun: OphGwy, «UpdbG-
hpu» dtinGwpynipjuwl fulnpmd &)umbtiny hwdwfunpyltph Ynnihg qGynn hwiw-
JunghsGtph pwGwlyp, Yuptih £ hwult] wnwybjugnyyG Giwinunh: 9-Gynn hw-
dwlwnghsGtiph pwGwyh ypw wjumtin wqnmu £ ngpulg ywhwGowpyp: Uyuu-
ynn Uhohl tljwinunp hwjwuwn t°
50000x 0.1+100000x0.2+150000x 0.3+ 200000x 0.3+ 250000x 0.1 =155000(nnuwv):

Jwyjwunh mtntuwympjub nhypmy dhohl tjuwdinunp hwjwuwn k 155000
npnuuh, hul wnwlg hwjwuwnh mbntiuwmynipjul wnwytjugneyyG vywubih vhohG
tyuwinunp' 130.000 ngpud, mwppbpnipjnilp 155.000-130.000=25000 npuy:

Ujuyhuny hwjwump mtintuwunynipjuwl wndtpl £ 25000 npui:

Bpt huyjnGh & hwmjwunmh mbntuunynipjul wpdtpp, wyw hwjwmbh L wjl

wnwybjuwqni)G gmudwnpp, np Junptih £ yowpt Gpiph hwjwwuwlnpymGGtph
dwuhl jpugnighy mbntynmpymGGtph hwdiwp: Ghunwpyynn pulngpmyd hwdwwp-
qhsGtph wwhwbownpyh dwuhlG G)qphn mbtntunympjul hwiwup dtnGwnpyni-
pnilp Junpnn £ yowpbp pupwpwul 25000 gpuy:
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3. 0hUUh GLULUSNRMT

Cuwn dhohl Gwimwubtph Juwd dhohl Ynpniumnbtnh jwjwagnyyG npnpnuiGtp
pannGhmt hwdiwnp Gwhunpn pwdimd dkGp oquuytighlp tlwinuunbGtph Jwd Yn-
nniunGbph wnynuuwlGtiphg: Uyn wnynuuwyitpp hwdwhn jpugynd G0 Gub hGw-
nwynp wmwppbp Gpbph GyuwimunGtph hwjwlwlywlnipjmGGinph wpdbplbpny,
npnlg ytpnionipjniln pnyp L mwhu gGwhwwmb) jmpupwlysynip hGuwpwynp npn) -
dwl nhuljh wuwmphdwnp:

NpnonuiGph nhuyh gGwhwmiwl hwdwnp unynpupwnp oqgumugnponid LG Ghw-
UnunGhph dhohl pwnwymuwjhG JulnGuywi 2tnmip Juwd gpwopp: “+hunwp-
ytGp tipym GhpnpnudGtiph Giuwdmwpbpnpjwl L nhuyh hwdtdwwndw 6 fulnhpp:

OphGwy 2: “hgnip mpjwd GG tpynme GipnpnudGph hGupwynp gnun Ghw-
dnunGtipp L npwGg hwjuwlwlwlimpjmGitpp (nt'v wn. 13):

Unjniuwy 13
Lwidtdwwunynn mwppbpulyGbpp
9nmu Lljuninunn
(176 npud) m; -25 1| -15] -06 0 0.5 1 2.2 34
JwywlwlywlmpymGatpp P;
U Gpppnud 0.5 0.1 0.1 0.2 0.2 02 | 0.2 0.5
£ Gtpypnd 0.3 0 0.15 0.15 0.1 0 0.3 0.1

Unwohl GpnpiwG hwdwnp vyuwutih Giwdninp hwjwuwn t

Ei=(-2.5%0.5) + (-1.5x 0.1) + (-0.6x 0.1) + (0x 0.2) + (0.5x 0.2) + (1x 0.2)+

+(2.2x0.2) + (3.4x 0.5) = 0.98 (116G npw):

Gnynpnpn Gepgpiw 6 nhypnid’

E,=(-2.5% 0.3) + (-1.5x 0) + (-0.6x 0.15) + (0x 0.15) + (0.5x 0.1) + (1x 0) +

+(2.2x 0.3) +(3.4x 0.1) = 0.21 (016G npw):

Gpb hwdtibwwmtiGp dhwjl GhpgpnuiGtph dhohl Giuwinmunbbpp, wyuw wyi-
hwjwn E, np wnweohG Ghpnpnuip jwywgnyyGa L Uwlw)l Gdwl qGwhwmwuin
hwyyh sh wnlmd nhnwnpyynn GhipgpoudGhph nhulp, wjuhlpG hGwpwynp wp-
nynulpGtph gpdwopp. wjl Junpbh b qGwhwwnt) tiudnunlbph gpt{wép_h‘oz , qud
dhohl punwmuwhl (YunGwlwi) piniwl’ o-h oqlnipjudip.

o *=3%p,m; ~(E(m)’,

E(m) = ;pimi >
npuntin m;-G i-pn Gepppiw G GyudnunG , hul pi-G nyjuy Giudninh vnwgdiwl hw-
JulwiwlinpGa t: 14-pn wnnuuuynd ppduo 66 tpym GepppmudGhph hohG
EudimunGtph wpdtipltpp L hwdwwwnmwufuw( hwyunyGbpp:
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Unjniuwy 14
Gluwinunp
(416 npud) U Gepnpnud £ (Ghpnpnud
m p | pm pm  |p pm pm’
-25 0.5 -1.25 3.125 0.3 —0.75 1.875
-1.5 0.1 -0.15 0.225 0 -0 0
-0.6 0.1 -0.6 0.036 0.15 —0.09 0.054
0 0.2 0 0 0.15 0 0
0.5 0.2 0.1 0.5 0.1 0.05 0.025
1 0.2 0.2 0.2 0 0 0
2.2 0.2 0.44 0.968 0.3 0.66 1.452
34 0.5 1.7 5.78 0.1 0.34 1.156
CGnwutbn | 1.0 0.98 10.834 | 1.0 0.21 4.562

Unwohb Gepgpiw G hwiwp
o2=10.834 — (0.98)*=9.874:
Nputinhg GtpnpdwG nhuyh hwdwp unwlwlp

1 =+/9.874 =3.14 (16 npwv):
Gnypnpn Gepgpiw 6 nhuyh hwdwnp
o2=4.562—(0.21)’=4.518,
0,=~4.518 =2.13 (416 npu):
hGywbu tplmd £ vnwgyuwo wmyjwltphg, wnwehl GhpngpuiwG nhuyp wytih
utio t, pwl tpypnpnhln (2.13< 3.14) L Gph npuytiu npnpnudGeph plnniGiwG swthw-
(ih2 oquuugnpoyh nhuyh vtonipnilp, wuyyw wylihwynm t, np Gwuwwwmynipjniln
wbtinp E wmpyh Gpypnnpn GhpgpdwGp: “Fhunwpyynn fungpnud hGywbtu gnyyg L mwihu
uyuwubijh tyuwdmwubtph b nhuyh hwibdwnmpnlnp, GwjupGuptihG Gpypnpn
GhpnpnudG k:

4. NeACNRULELD OGSUHULNRME3UL G LULUSNRT

Shunwpywod ophGwlyltph Ytpmidnipmnilp gniyyg £ wmwhu, np npnpnudGhph
nlnniGiwG dhulnyG fulnhpp nuotihu mwpptp swhwlhyGiph Yhpwnnwip jupnn
E hwqbg Gty mwppbp muonuiGhnh:

LG06wnpyiwl dwdwlwy dtlGp hwpyh swnwlp, pt wyn swthwhyGtpb pGupnn
w@dp hGshG b Guwuwywunynipynil wyty: UjuhGp6® npnpnudGtph pgmGdwb dw-
dwlwy wyn wldp nppwlny £ hwlywo nhuih nphibnt, Jud Gpuw hwdwp hGs wnp-
dtip nGLG myjwy dEonpjudp tiwdninp Jud Ynpniump: Ogunuwupnipjwb Yp-
nionipjniln npnpnud plnnilnnhG pnyy) £ nmwihu pun hp GwuwwywunynipynGGaph
qlwhwwt] wmwppbp npnpnuiGtiph oqmuwlijwpmpymbGn L Yytpp pGGwpyuo sw-
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thwlhpGtph oqlmpjwip npulghg pGunnpt] jwjwanyyGp: Lwlh np GudnunGbph
(Yud YynpmuwnGtph) dhlGnyyG wpdtplGtpp npnpnmd plgniGnn mwppbp widwlg
hwdwp Yupnn GG niGEGuw] mupptp ogumuwwpnipjnilG, wuyw hwuywlwih t, np
npnynuiGtph plnniGiwl dhtlnyG sgunhwlhph ghypnd Gpulp JunwGwl mwppbn
«qujugniyGy» moniGhn:

OphGuwy 3: Uujwon pGGwplytilp 1000 wwjdwlwlwl dshwynp (uy) Ghp-
nnmuibbph Gpinm mwppbpwyGbph hwdtdwndw b ophGwyny: Unwohl mwppbpw-
yh hwdwdw)l gmiwpp Junptih £ Gapglt] nhujugqtnd gnpownpph dto mwupblwb
8%-ny L mwpyuw YtpohlG unnwbwy 1080 wu: Cuwn tpypnpn mwppbpuyh, gnuiwpp
Junbph & GepnGhp nhujuydnp gnpowpph vt L mwpyuw YtpehG jud unmwGuy 2000
wu, Juu Ynpg Gt wipnn9 gnmdwpp:

Stulklp pt hGswhuhl £ 1080 wu-h oquuujwpnipjnilp npnpnidGtip plnnilnng
wnwpptin widwlg hwdwn:

Qhgmp' wnwohl Ghpnpnnp pdojujul hwiwjuwpwlh wuyhpwim b, npG
wjn gnidwnpny wtwmp £ Yydwph hp hwonpn mwpjw niudwl Jupén: Uju gnidwph
Ynpniuwp GpwG Ygqpyh numdp JwpniGuwybm hGuwpwynpmpnilhg, niunh wjn
Gipnpiwl oqgunuywnpmipjnilp Gpuw hwdwp pwwnm pwpdp b: Ogumuywpnipjul
gwhwwmdwl hwiwp wuyhpwlnhl wnwewnytilp Gwjupwl nplkt npnynd Ju-
Jugltin qGwhwwnb; wjl wnwybjugniyG p hwjwlwlwlnmpjnlp, tpp 1080 wu
hujwumhnptl vnwlwmn Jud p hwjwliwywlnpjudp 2000 yd vnwlwm L 1-p
huju Gwlwlnpjwip Ynpow Giwl dwwnbGytnt tiptpp hp hwdwp hwiwnpdbp Ga6:

“Qhgmp' p=0.9: Gpt U(x)-ny Gpwluytlp x gnuiwph oquuwlwpnipjnilp,
wyw’

U,(1080) = p U(2000) + (1-p) U(0):

Gpt U(0)-G nlinniGulp hwjwuwn t 0-h, huy U(2000)=100-h, wwyw 1080 wui-h
oquuwupnipjnilp YqGwhwwmyh 90 dhwynp: Mbwp L G, np oquuujupmpjul
vwlnnuyn Jupnn L pGuopgt judwjuwlwlnpbl: GopotGwljuimd hwdwh GG
oquuugnpoyniy [0.1] L [0.100] Showjwptpn:

Ujuyhuny gpuiwyuwG 0-1080-2000 vwlnnuyp thnfjuwphlytg oquwljwnpni-
pjul 0-90-100 vw Gnnuyny:

“Qhgnip' tpypnpn Gepnponp 100000 Wi gpuwiwgnifu niGhgnn dtnGtpbg t:
Lwuluwbwih t, np 1000 wd-h Ynpniunp Gpu hwdwp twuwG GubGuynipniG sni-
Gh, L npniwl plnniGiwl dwiwlwly nhulp G nhp sh fpwnmd: JtinlGtpbghG
(n)Gytu wnwownytlp qGwhwwnt] p hwjwlwywlnipniGp: “Fhgnip” wju nhy-
pnid p=0.1-h: <tmlwpwp 1080 wui-h oquujupnipjnilp Gpu hwdwp hwjwuwp
YihGpr

U,(1080) = 0.1xU(2000)+0.9x U(0) = 0.1x100 = 10:
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UjuhGpG" dtnGtiptgh hwdiwp 1080 wu-G niGh 10 shwynp oquuujupnipjniG:
Uju nhiyypnid gnidwpwjhG 0-1080-2000 vwlnnuyp thnfuwnphGynid £ 0-10-100 oqg-
nwluwnpnipjwl vwlnnuyny:

Ujuyhuny, dhllnjG gnidwpwjhl vwGnnuyp Juptih & thnfuwphGl] muppbp
oqunuljunnipjul vwlnnuyGtpny:

Oquujupnipjul vwlnnuyh Yhpundwl wnwytimpmGitiph pGGupydwa
hwiwnp phnwnpytbp GhpppouiGiph hbn quuywo dhohl Guwdwmh dwpuhdwgiwb
htinlywy fulinhpp:

OnhGuwy 4: Ghgmp’ nmp nmGhp 1000 wd L guGwlmd tp Juquiwltputy
wpunwnpmipjnil: Uww)l Giwl gmiwpp pujupun sk wpunwnpoipyni juqdw-
Ytnpwbmnt hwdwn, L nguip ywwmpwuwn Gp 1000 wu Ghpnlh] npuk gnpownpph vbg:
Jdtgq wnwownymu £ gqnuiwph Gipppiwl tpyne mwpptipul): UnwohlGh nhypnd
gmuiwnp nwpbub 12%-ny Ghpgpynud © pwGy, b vmwpguw ytipehG noip unw Gnid
tip 1120 wu: Gpypnpn nhypnd gnidwpp Ghpnpynd £ nhujuynnp gnpowpph dtig:

Cun dwulwqbnbtph qGwhwwdwb, Giwl gnpownpph hwonnnipjul hwyjw-
Gwlywlnpmilp hwywuwn t 0.3-h: Gnpowpph hwonnnipjul phypnid mupju
JtinohG nnip Jupnn tip unwGw; 10000 wu: Gnpowpph dwfunniwl nhypmy, nph
hwjwlwlwlnipyniGp hwjwuwp t 0.7-h, nuip Jupnn Gp YnpgGt] wdpnne 1000 wyud
gqniiwpp:

Snipwpwlyjnp mupptpuwyh ghypmy tjuwdnnbtph wpdtipltpp pipdwo GG
15-nn wnyniuwynid:

Unjniuwy 15
Gwpugnp ipbpp Qnudwph GipypiwG hGwpuwynp mwpptipuwyGhpp
Gnpownp (Rhuljunn) Pwl (phuljwugbind)
{wonnyud gnpdwpp 10000 1000
Quonnywd gnpownp 0 1000
Uhohl Giwdnunp (wu) 3000 1120

hGswbu pund £ wnjnuuwlyhg, pun gpudwjul vwinnuyh wnwybjuqgni)G
dhohl Giuwininp unwgynid £ gnudwpp gnpownpph dte GhpnGhnt ghwypnud: Uw-
Juwjl GiwG Gepnpnuip Juuwo t uto nhuyh htin, L gnpownpph dwjunniwG nbu-
pnud nnip YynpgGtip wipnng gnudwpp b wpnmunpnipjnG juqiwytpybnt hGw-
nuynpnipynilp: Oquujupnipjuwl vwlnnuyp wju fulgpnud niGh htnbywy mtupn .

0 — Gyuquqgny)G Biuwinun - 0 wd,
100 — wnwytjugny G Gudinun — 10000 wu:

UyuhlpG” U(0) = 0 L U(10000) =100 shunjnp: “Lwfunpn ophfGwyh Giwlmpuuip

npntlp 1120 wyi-h oquawupnipymbp: “thgnip’ nuip qulmy tip, np gnpowpph hwen-
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noipjwl 0.8 hwywlwywlnpjul ntypmi Gapguiwb tpyne nwppbpuytn b dbq
hwdwp hwdwndtp Ga6: <tnbwpup, wnwohl GhpnppiwG oquawljupmpymGp’ U(1120) -n
hwjwuwp
U(1120) = 0.8x U(10000) + 0.2x U(0) = 80 dhwynp:
Oquuupnipjuwl gGwhwwnwlwGGtpp pipdwo GG 16-pg wnynuwynug:
Unjniuwy 16

Qnuiwph GipypdwG hGupwynp
{Gwpwynpp tptpp nwppipuyitpp
Q-npownp Pwly
Lwonnywd gnpownp 100 80
Juunnywd gnpowpp 0 80
Uhohl oquuulwpnipjnilin 30 80

blyuytiu htimlnud £ wnymuwyhg pun wnwytjugnG dhohlG oquuujunmpjul jw-
JugnyG motwlp hwdwwuwunwufuwlimy E gnudwph nhujugtind Gipnpmdp, npG wnw-
Ybjugm)G shohl Guwinh suwthwlhoh hwdwdw)l pigmGjwd npnydwl mnnuiyjh hwyjw-
nhnl L Liwl wpmipp Wupiwiuwdnpjuo b gnpownph hwonnnipjul Wkd nhuyny:
(Yhuyh qGwhwuniwl hwdwnp Junmgblp oquuujupmpjwl qGuwhwmwlwbitph Ghuw-
umwnGtinhg JwjudwG Ynpp (nbu qo.1): Lwbh np UO)= 0, huy U(10000) =100, wuqw Ynpp
YniGtiGw unnpl pipdwo wmbupn.

Bpti 1120 wi-h oquuuyupmpjul quwhwnwyubp” U(1120) = 80 L qohg pwpdp k,
wuyw nqup qgnywynpmpjudp p plnmbmd npnynudGhnp, hwijwnwy nghypmd, Gufu-
nGunpmy tip phuwynp npnpmiGhp: “Ghunwnyynn fjunhpp motihu GujupGunpmy tp
nhuljh snhdbint gqniuignp Juippp:

UX) 4 Oquulupnipjul
qGuwhwwnmwlwud
100 |—
80 [—w (+huyh snhuinn
60 [—
40 [
! (+hubh nhinn
20 [—!
L \ \ >
2.5 5 10 X

Glwuinun (hwqup wu)
Q0.1
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5. AeNTNrULELD BUND BATLUY

Qhunwpywo ophGulyltpnd npnpnuiGeph plnniGnuip Juumwpymd Ep dky
wlquu: GnpolGuwui pwwn fuGnhpGipnmd hwdwfu Glip hwinhymd hwonppuwG
npnpndGhph pgniGiwl wihpwdbymmpjubn, tpp pnmGywd npnynudp wwjdw-
Gwynpnud £ dh wy npnpnid (Yud npnpmuiGin) plgmGhne wihpuwdtymnipymGp:
NpnpmuiGbph Gdwl hwonpnulwlnmpymip hGwpwynp & Gwpwgnpt] L htnw-
gnut tjwinmunbGtph wnnuwlGtph oqlnpjwip: Ujuyhuh ghwyptpmyd oquuynid
L6 wjuwtiu Ynsywo npnynuiGliph dwnh tiquGulhg:

NpnymiGhph dwnp hp Junniggwopny (dw E hwjwlwywlnmpnGGtph nb-
unipjnilihg dtiq hwjmGh hwjuwlwlywlnipmGitph ownhG: Uju inuGwyl oquu-
gnpontd GG w6 phypbpmd, tpp winpnymipjul ywjdwbitpnd wihpuwdtyum t
nGnniGh] muppbp npnynuiGhp, npnlghg jnipuwpwlsnipp Yuhoqwd b plngniGuo
Gwhunpn npnpdwi (npnyndGtph) Yuad Giph (Giptph) wpnmGpGtphg:

NpnpnuiGtph dwnp wpuwgnmd E moynn hhdGwhulnph Junnigwopn b
Juquywo L pGhg, hwlqnyglinhg n npulghg nnipu Gynn §ymnbtphg: NpnymiGt-
nh ownp Gipyuwjyugynid £ dwhuhg we: ‘Lpw Gymntpp gniyg LG nmwhu hGwpwynp

wjnGunpwlpwjhl npnymuibGtpn L ngpulg pypniGiwl nhypmd hGuwpwynp Gipbpn:
Ownh Ghpjuwjugiwl hwiwp ogqnugnpoynid GG Gpynt mbuwy §nintin” hGwpw-
Unp npnpnuiGtphlG hwiwwywmwufuwlng Yenwqotp L GptphG hwdwywwmwu-
fuwlnn hno qotin:

NpnpymiGhiph ownl plnggpynud £ Gpyne mbuwy hwgqnygGtn: MignuGyynGny
(pwlwyynud GG npnpmiGhph pgmGiwl hwignygGtpp, huy powlwyny hGw-
pwynp yuwumwhwlwl GpbphG hwiwywumwupuwlng hwlgniyygGhpp: Lwlh np
npnynid plgniGnnp sh Jupng wqnl] popnp hGwpwynp Gptph ypw, wyw dwnh
htnmwgnuniwl dwdwlwly (w qGwhwnmd t dhwjl mwpptp Gpbph hwjwlw-
JulmpjniGGtpn:

NpnpmuiGtph dwnh httmwgnunuip juumwnpynud t dh pwbh thnytipny: Uyqpnod
«unpdytiny dwhuhg niyh we», Junmgynwd £ dwnh Juwjupp, npuntin npnynidGt-
nhG hwiwwwwnwufuwlng §nintph dnn gpymd GG npuwlg htn juyywd dwfu-
utinp, huly Gptph §nmtph dtnn’ gpuGg hwjwblwlwlmpnGatpp: UjGnhtnl
Juuwunwpynud E mwppbp Gptiph hwjwwywlnpmGGbph L npuig hwiwwywmwu-
fuwlnn GwdmwuGtph hw)wnyn: Gppnpng hnymd jumwpymyd E nwppbp hwG-
qnijgGtpmd dhohlG GiwimwumGph hwywnpyp L «updyting wohg ntwyh dwpux»
nlnniGynud 66 wnwytjuagniy G shehl GuwdnunGbp wwwhnynn npnynudGhpn:

OnhGuy 5: “thgnip’ «Unwlwy dtinGuwpynipyniGp nhib) L pwlyhG gkl mwpny
10 416 gpwd Jupy Jybpglbn hwjmny: Lwjunpy wwphGiph thnpdhg pwGYhG
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hwjwGh t, np JupyunnGtph 4%-p yunpyp sh yapunundGnud:

Pwlyp yupnn k «Unulwy» dtnGupynipjuip mupbui 12%-ny wjn gnuiw-
nh Jupy nuy, vwuwyl Guw Jupng £ Gl wyn gnudupp muptuG 6%-ny Gapgpbg
nplk nhujuqtnd qnpownpph dte: dtpohl nhiyypnid pwlyp mGh Ghpnppjuod gnidw-
np htin vnw Guwn 100%-wling tpw)fuhp:

Pulyp wytiwnp k. pnmbGh «UnuGwy dtnGupympjwb Jupjuynptjn juy gni-
dwnp nhujuqtind qnpownpph vty Gtpgptint npnpnud: fulnph wyjwGtpp ppdwo
LG 17-pn wnynuuwynud: loGnph neodw G hwdwp Jupnn 66 oquugnpdyty hGywbu
tiwdnunGbph wnyniuwyh, wyGutu £ npnynuiGiph dwnh tnuGwyn:

5.1 GuimwnGunh wnyniuwlyh Gnululy

Shunwpyynn funpmd pwlihl wGhpwdt)m b plgniGb wjlGuyhuh npnynd,
npp dwpuhdwgGh mupjw ytpohG unmwgytijhp qnin Gjwdinunnp, wjuhGpl wnwn-
Jw Jtpohl unwgybtjhp L mwpjw uyqphb Ghpnpuo gmiwpGtph wmwppbpne-
pmilp: Gpb pwlyp Jupywynph «Unwlwy dtnGupynmpjuwlp L mwpjw ytpoht
htim vnwlw wipnne gnidwpl, wyw Gpw gnun Gwdnunp Juqih'

(10000000 + 0.12x10000000) —10000000 = 1200000 npw:

Gpti «UnuGw» Shpdiwl mwpduw YupohG sytipwnundGh gnudwnpp, wyu pwi-

Un YynpgGp 10000000 npuwy:

Unjyniuwy 17
LGupuynp npnynidGhpp Lwjwlwlwbni-
<iwpwynn bphpp
Jupy wwp | qupy snwy | pymlp
Juwnpyp ytpwnunpdynud £ 1200000 - 0.96
Junyn sh Yyepunupdymyd —10000000 - 0.04
Uwwuytifhp qmwun Gluwdninp 752000 600000

Gpt pulyp gnuiwpp mwptjuwb 6%-ny GtpnlGh nhujuqtpnd gnpowpph dtio,
wyw nwpyuw ytpohl Gpu gnun Gluwdninp Yuwqih 600000 npuid:

SyjwyGtph ytpnionipjniln gniyyg k& mwihu, np pupjwo swihwlhph ghupmd
pwlyp wtwnp L plngmbGh «Unwlwy dbnGupynipjul Jupyuwynpiwl npn)nwd, nph
nhiypnid hp wnwybjugny)G gnun Guwdnunnp Juqih 752000 gpud:

5.2 NpnynuiGph dwnh tnubwly

Uju phiypmd Lu Yoquytilp npnpnuiltph qGwhwwmdwl Gyl ywthwlhphg:
uGnnh npnynuiGtph dwnl niGh 2-pg gowGupmd ppwo Junnigywopn:

A L B hulignmjgGpmd vyuwuybijhp gnun GiudmunGtpp hwygwplymad GG ht-
wlywy Yhipw.
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A hwlgnyg
(11200000x0.96+0.04x0)—10000000 = 752000 npu:
B hw(qniyg
(10600000x1.0—-10000000) = 600000 npw:
Swnw YtipohG unwgytihp
duplp gnuiwpn (016 npud)
dwnpymd k, 12
10.752 (0.96)
anpll‘“qu}.lf‘l ................. (0.04)
A co <Ll sh
------ Ywpynud 0
Qqupyuynpty T e-o ()
T @ 10.6
(Fhuywqgtino
0.6
qnpownp
Q.0.2

Lwlh, np A hwlgnygmd uyuuynn qnuun Gwdnunp wybth 060k, wyw
pwGyp YpGnniGh «Unwlwy» dinGupympjwlp yupjuynptjnt npnyniy:

Ujdu pGGuwpybklp wybih pupn hpwyhdwy, tpp Guupwl Jupjuwynpiwb npn-
o plnniGhp pwGyp Yupnn & unnigl] hwynnn denGunpynipynGGiph Junwhbih-
nipjnilp, YdwpniGuynpjniGp L dpgniGuynipjnilp: Liwl vnnigiwl hwdwp
pwGyp Jupnn b nhdt] hwpywunnghy SwnwjmpmGGtip hpwywlwglng «Unt-
nhw» bhpiwjhl, npp vby dtinGupynipjul vnniquwl hwiwp ywhwlomd £ yow-
ntip 100000 npud:

‘LUlhwnpwgnyuo hpwyhdwymd pwGyp wybwmp b Jujywglh tpynt npnpnid.
‘Lwu' hwygynp dinGupynipjuG hwyybunnigmd Juumwpt®, pt ng L, Gpypnpn,
«UnuGwy dtnGupynipjulp yupyuynpt®, ptng:

Unwohl npnymuip Jujyugltint hwiwnp pwlyp upnn L unmqgby «Unimhwmy» Shp-
duwh mwd mbntympnGiiph hwjwumpnipynilp: Lw Jupnn t, ophGwy, plwn-
ntip «Uninhwy dhpdwjh Ynnihg wpntG hwpyguwumniguo hwmquip dtnGunpynipmniG
L wlhwwn, npnlg hwyytiunmquiwl JhswjugpuyulG udjuylbpp pipduo GG 18-nn
winnuwynui:

Uyqpnud ytpnuotilp npnpnudiGtinh dwnh 4-pp hwgniygh hGuwpwynp Gipbpp:
Gpt pwlyl plnpmGnd b «UnwlGwy dbnGupympjul Jupyuynpiwl npn)nd,
www mupjuw ytpohl 0.04 hwywlwljwlnpjudp gnidwpp htn sh vnwGuw, huy
0.96 hwjwGwlywlnipjuip dtinGuwpynipnilp Ydwnph qunpynp:
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Unjyniuwy 18
Unwownynipjnilp Owunwgh wpryntGpp (hwdwfunipyniln)
unnignitihg htimn Juplyp dwnpyby k Jupyp sh dwpyty nlnwuitln
Jwny muwy 735 15 750
Jduwny sy 225 25 250
Clanuwdtbp 960 40 1000

F hwlgnygnud uvyuuybijhp Gwdninp Ylywqdih
E(F)=11.2x0.96+0x0.04=10.752 16 npw:

Gpt pwGyl plnniGh gnuiwph nhujuqbtpd Gepnpiwl npn)nd, wyw G hw-

qnijgnud uywuythp tywdnunp Yywqih'
E(G)=10.6x1.0=10.6 016 npw:

Ujdd pGGwnytlp tiptinh hwjwlwywlinmpjmbGitpp A hwlgniygnid: hGsubu
tiplnd £ wnynmuwyhg, «Uninhny dhpiwl Gpupfuwynpnd k. hwjgynp dtinGun-
YnipymGGtinhg dhwylG 75%-h Jupyuynpnid: <tnlwpwp’ A hwlqniyghg ntiyh
2-pn hwlignyyg qGwgnn Gynup YniGhGw 0.75 hwjwGwlwlnpjnG, huy nghuh 3-npn

hw(gqnyg qGwgnn §ninp’ 0.25 hwyw Gwlwlnipjni(:

Swpyw Ytpght
unwgyuwd gnidwnp (016 npund)

Juwplyp dwpymyd k 11.2

(0.98)
Lwptp npgma t__{B) 0.02)
=T "-10 Jwnyp sh Swpynud 0
.. 0 tpo
Jwpywynpnidp "~-:10 an;llglul.lL;l(}Q '
tipw fuwgnpynud b Wl sepdimd £ (CO)——— 106

(0.75)
JQuwnpyp dwpynd k 11.2
(0.9)

QunGwnpympjnilp .
hwyqwunmqymi b .-~ 0.25) “Lwpyp mflil{n{ibt - (0.2)
dwpuynpnuip h~N 3 k17T dwpyp sh Swpynid
. ‘01 Epwfuwynpynid S~ \_\10 Nhuluqtng
|I|‘ Juwplp dhpdynud £ ‘\@& 10.6
QtinGupy G \ l; Tt Jwpyp Swpdmd k 112
nGupynipynilp | S~ 0.96
hwjwunniqynid RN wpyp wpynid b (0.96)
Tl e b swpgna O
RN - :10
Jwplp Skpdynud k (: )————— 106
nyp dbpdy Mhalagbnd

qnpowpp
Q0.3
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Stultlp, pt hGsh GG hwywuwp B hwlgniygh Gptinh hwjwlwlwlnipniG-
Gtpp, tpt hwymbGh £, np «Unighwmy dnGupynipjulp tpuwpjuwynpty & Juplyu-
Ynpnudp:

«Unulw» dtnGwpympjul qupyp dwptine hwjwlwlwlnpinilp, yujdw-
(iny, np yupyuwynpnudp Gpupuwynpyby kL, junpbh £ npnp b yuwjdwlwlwi hwyw-
GwlywlnmpjmGitph yuwd APwjtiuh pwlwalhg:

18-nn wnynuwhg npnptilp htnlyw] hwjwGwlwlnipjniGGpnp.

P(qunyuynpnuip tpw fuwynpguo k, L Jupyp dwupybg £) = 0.735:

Punyuynpnudp tpw fuwynpynid £) = 0.75:

P(qunywynpnuip bpwpuwdnpud b, pwjg Jupyp sh dwpdtyp = 0.015:

P(qunyuynpnuip sh tpupfuwdnpwd, pujg Jupyp dwpyby b) = 0.225:

P({upluinpnudip sh tpuptuwdnpjwo, L qupyp gh dwpgtp = 0.025:

PJupyuwynpnuip sh tpupjuwynpwo) = 0.25:

Ujuntinhg B hw(gniygnid Jupyp dwpbtint tiph yuwjiwliwlijuwl hwjuwlGuwlju-

(impjwl hwdwp JunwGwlp Swpdu Jbpght unwgyud

qnuiwpp (4G 1)
Jwplp dwpygmd k 11.2

Jwnlp npymy E (8 33)
0.976 il 02)
_---"7-10  Jwpyp sh Ywpynud 0
Jwnpluynpndp “s¢ - 10 Nhujugbind
tpwfuwynpymd £ D @ qnpownp 10.6
(0.75) Juwnpypn dbpdynud :
0.882 t dwplp Gwpgnd b 19
QAtinGwnynipyniGp ( 0.9)
hupuunmaqynd k-~ 0.25) 0.%“”1“1“ mI_n}Illg L (0.1)
-7 dwpluynpmp sh [3 k27X duwplp sh wpyms 0
0782 .01  bpwpfuunpynud A0 N-huljwqbnd
~~. Jwplp dhpdynud £~~~ (E)-4nnownp 10.6
QtnGupympynip >~ x wpyp dwpynud £ 11.2
sh hwpquumnmayniud RRDY . Jdwnynp mpynd £ B (0.96)
Tteal 0752 _.w3p 9 5
b * . Jwpyp sh dwpynid
%~ 10
ToO——— 106
Jwplp dtpdymu k huluqtnd
qnpowpnp
Q0. 4

P(quptuxinpnt dp Epupfuunnp b £ b quntn gipunundy B E) o 2oc 675 2 0.08-
P(quipturnp nidp kpugtuudnn i £)
buy B hw(gnygmui Jupyp sdwpbjim Gph wquwjiwlwlwl hwjuwlwlwlni-
pnilp hwywuwp YihGh 0.02-h:
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D hwgniyjgh hwdwp Jupyp dwpbjn b sdwpbtne Giptiph ywjdwiwlwl hw-
JulwlywlnipmniGatpp Ynpnpytb GnyyG duny
P(quplunpniip sh bpupiuwnpyty b qupyp Jipwpopddsi )

P(uplwynpnuip tpuwpfuwynpyuwo k)

buy D hwlgniygnmd Junpyp sdwpbnt hwjwlwlwlGnipmilp hwjwuwnp YihGh
0.1-h:

Ujuyghuny wjwpumynud £ npnpnudGtph ownh junmgiwG thnyp: Ujdd npn-
2tilip dwnh hwlgnyygGtpnd vywuybthp tywdnunbtpp L pGunptip wnwybjugni)
Luwinin wywhnynn wypGupubpltpp: Lwju pGaupytip B L C hwiqmjgGtpp:

=0.225/0.25=0.9

B hwignijgmd vyyuuytijhp twinunp hwjwuwnp t

E(B) = 11.2x0.98+0x0.02 = 10.976 110 npwy, huy uywuybihp gnun Gluwdini-

un 10.976-10=0.976 116G npu:

C hwlgnygnmd vywuybihp tjwdnunp’ hwjuwuwn t E(C) =10.6x1.0 =10.6
(016G nputy), huy vyuwuytithp gnun Biwdnunp 10.6 —10 = 0.6 (016 npwd):

Ujdd nhnnwpytlp npnynuiGtph plnniGiwl hwiqnygGtpp (nuquGlyymGGatpp):
Ujuntn wnwybjugnyyl vyuwuytijhp Giuwdinunp 0.976 416 gpuyd, vnwgynmd & B
tiph npbwypnud, tpp plgmGymd b «Unwlwy dtnGupympjulp Jupy wnwpm
npnyniy:

‘LG Guny hwyJunyGtpp yuunwpymd 66 Gwb D L E hwGgniygGtph hwdwp:
D typh hwiwn uywuybtijhp Guwinunp npnpynmu £

E(D)=11.2x 0.9+ 0x 0.1 =10.08 (116G npw),
hul vyuuybijhp gnun Gwdninp
10.08 —10 = 0.08 (14 npud):

Luwilh np, dnGupynipjul hwpybunngnil wpdt 0.1 §16 gpud, wyw A
hwGqgniyygnid uywuybijhp gnin Giwdmup hwjwuwn YihGh'

0.882—0.1 = 0.782 (116G npu),

E tiph hwiwnp vywuybihp tjwdninp hwjwuwp B

E(E) =10.6x1.0 = 10.6 (G npu),
hulj uvywuybjhp qnin GBiuwinunp
10.6-10 = 0.6 (10 npuv):

Ujuyhuny 3-np hwgniygnid wnwybtjugnyyG vyquuytijhp Gudnonp hwjw-
uwp t 0.6 ¥1G npwih: <tnlwpwn, puGyp wytnp £ pngmGh «Unubuwy dtnGupyni-
pjwln uny wmup dkpdtint npnpnid L gnudwpp GeipnGh mwptui 6%-ny nhuljw-
qtipd qnpowpph vby:

Ujdd nhwnwpytiGp A L 1-hG hwGgniygGtpp: Oguugnpotiny 2-pn b 3-pn hwG-
gqnijgGtpmu vnwgywo wpnymGpGtpp, A hwigniygnd uywuybhp tywdninh hw-
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dun funwlwbp
E(A) = 0.976x0.75+0.6x0.25 = 0.882 (11G npw):

Ltwmbwpwp 1-hG hwlgmygnd vyuwuybihp wnwybjugnyyG Guwdninp YihGh
0.782 16 npuy, wjuhGpG pwGyp wtwmp t plgniGh «UnuGuy dbnGupympjub
hwyjwumniqiw b npnpnud:

NpnymuiGiph dwnh Yypw vjuplbpny Gywlwlywo GG hwigniyglGtpmd wnw-
YtjwgnyyG vyuwuybijhp qmun Giwinunltp wywhnynn npnyndGtphG hwdwww-
nwufuwlng §ntpp: OphGwy nhnwplyywo fulnpnid 1-h6 hwlgniygmd wyhwnp L
hpwywlwglt] hwygynp dtinGupynipjul hwpybunmnigny, tpk hwjmnn dtinGuwn-
Ynipjwl Jupyuynpmil tpwpfuwynpynid £, wyw 2-pnp hwgniygnd wybtwp L
nlnm Gt Jupyuwynpdw b npnynd, hwljunwy nhwypnd, 3-pn hwigniygnd whwp k
nGnniGt] mwptywl 6%-ny nhuuqbpd Ghipgpnud Juunwptine npnpmud: (pnynud-
Gtph ownh Ytpg Guwlyuw b mbupp pipdwo k qowgpnuy:

5.3 NpnynuiGtph qquynmnipjwmG YtpnionipiniG

bGswybu mtuwlp pGGwpywd ophlGwynid, npnynuiGiph dwnh oqlmpjwip
ninmGywo ydhnGhpp yuhudwo b6 Gpuw hwigniyyglhpnd Giptph hwjwGwywlne-
pmiGGtphg: Lwlh np gnpoGwlwl fulnhpGtpmd hwlqniygGhph tipbph hwywGw-
JuwlnipjnGGtpp unynpupwp juGuwnmbtuynd GG npnpwyh vfuwny, wwyw plnne-
Gty npukt npnynd” wlhpwdtyn £ wwnpgby, pt nppwiny £ qu juhwo Gypuo
hujuwGwyuwlnipymGatph wpdtpGtph hnhnfunipjniGhg (Yuy ufuwihg) L hGyuh-
uh( k pnniGywo npnpnuiGliph «wipmpjuwl wuwwppy»: Ujuhlpl, yhwunp b qGwhw-
wnb] npulg qquynilnipjmbp: LUwl Ytpmnionipynilp juumwpdmd b wjl pnniG-
Jwo npnpnudGtiph qqujGnipnilp htnmwgnnbynt Guuwmwyny, npnlp plgniGyty GG
(yuwunh mGhGwny hwlqnygltph tptph hwjwlwlwlmpymGitph thnthnjuni-
pjmln:

OnhGuy 6: Ghgnip' «UpikGhynii» ntinugnpowlul dtinGupynipynilp yw-
Ut £ oniuymd quyG ywhwGownly niltignn vh Gnp ghinuidhong: Uwlw)G dh pwnpp
pwpn wmbfunnghwlwl gnpoplGpwgltinph oquwgnponuip pinwihongh wpww-
nnnipjniln pwlluglnd £ 2.5 016 wyd-ny:

Dhgnip’ wdpnn9 wpmwnpuywb gnpoplpwgh Juquiwytpunuip mbnd £ oty
nwnh b thwjyl 0.55 hwywlGwlywbnipjudp Junptih £ wywhnyty Gpuw mbjuGhyw-
Jqul wijunwlgnpjul wihpuwdbym dwyupquyp: Upnwnpnipjul wijunwlgni-
pjul Ywjupnuyh pwpépugiwl hwdwp Yupnn b Gapgpdtp Gpuw hwiwlwpg-
sughl ytpwhuydwl hwdwupg (K4L):

{wyjywnbh k, np Gdwl hwiwuwpgh Guwlidwl L GepppiwG hwiwp yquwhwGe-
ynd ity mwph dwdwlwy L wpdt 1 46 wd: Muwhwioynn wlyumwlgnipjul
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dwljwpnull wwywhnynn hwdwlwpgh dwljiwl hwjuwliwyuwlnpnip hwjw-
uwp E 0.75-h: 26 npmd Jtpwhujdwl hwiwupgh dywynip Juptih £ ululg
hGswtiu wpunwnpuywl gnpoplpwgh httn thwdwdiwlwy, wjlubu £ wpmwnpni-
pmiGG uljutynig htnn, tpp ywnpg YihGh wmbulnnghwiwl gnpoplipwgltnph wi-
Juwlgnmpjuwl hpwlwl dwlwpnulyn:

Gpb hwiwlwnpgywjhl yopwhuljdwl hwiwlwnpgh dywynil ujuyh wpnw-
nnuywib gnpoplGpwgh htim shwdwiwGwy, L yipohlGhu wijunwignpjwl dwljwn-
nuiyp hwdwnpyh pwjwpun, wyw yipwhujiwl hwdwlwpgh Gepgpnidp wybnpn
UihGh, huy dtnGupympjmbp Yyph 1 416 yi-h YGwu:

Ujniu Ynndhg, tpt hwiwluwnpgh dywlyndp himwaqyh, huy mbfulninghwywd
gnpoplpwgltinp spwjwpuptl wijunwigmpjul wwhwloltpp, wyw dtinGwn-
YnipjniGp unhuyywd YihGh Gnp pinudheongh wpuwnpnipynilp hbnmwaqhp vty
wmnwpny vhGslk hwiwljunpgh dywynwin b mbnunpmudin:

Gy, ytppwytiu, tpbh wliyunwlq wpnwnpmpjuli Juqiwltpynil wihpw-
dtipwn £, huy Yytpwhuydiwl hwiwluwnpgnp sh wywhnynd ywhwloynn dwljwnpnu-
Un, wyw dbnGwpympymlp, yniGEGuny ginuihgngh wpumwngpnipjul wjplin-
nwlpwjhl tnuGwYyGtp, yhpwdwnpyh Giw6 Gwhuwqohg:

Gpt dtnGunpynipjniln nhinudhongh wpmwnpmpniip yuqiwitpynmd bt dky
nwpnid, wwyw Gpu Gwdnunp, wowlg hwpyh wnGhm wpunwunpuyul dhong-
Gtph Jwpwopwqgpnuip L hwiwywnpgswjhl yipwhulyjdwl hwiwywnpgh wnpdtipp
YYywquh 10 916 wu:

Gpt ninwdhongh wpmwnpnipjnilp httmwaqyh Wby mwpny, wyw 2nijuynd
hGwpwynp dpgwihglbtnph hwjmGytmn wgwwmdwnny dtnGwpynpjul Glwinun-
Gtpn 10 416 wu-hg YpGyaea 8.5 WG wu-h: Bluwdnung
Ununwnnmpiniin widwnwla (thQ- uyf)

, (0.55

Uhw)G wpown- 7
nnipjw dywhnug,”
/
/

/' Upwnuwnpupymlp

7 -

{JL-G whunw

’ widwnwiq sk .-

1< o7 UG whuwGh gt~

\\\ \\\ Lwuwqd
. Unulg 213- " >yg) b 0

\\ _ h
\\
\\

Upwunpnipjw \® UnwnwnpnipiniGn widunwiq 1

(0.55
RdL-G

L <J<-h yuynud

(0.45
Upwnwnpnipjniln
wdwmnuwba sk

Q0.5

{d<-G whnwGh
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Qbnuagnpowul dtnGwpynpjul ntuwjuwnnipjuwlp wihpwdt)wm t plgniGty
htimlyw) npnymuiGepp

1. hGyytu Juqiwytpyt] nhinuihongh pnnupynudp, npuytugh dtnGunpyni-
pnilG6 unwlw wnwybjugni)l Glwdnun:

2. bGywhuhG t pGnynGynn npnpdw b qquyniGnipyniln:

UGgGtlp fulnnphp nodwn:

huGinph npnynuiGph ownp ptipjwo & 5-pn gowqpniy:

Ownh Juwnpnigdwl hwiwp hwyupyblp Gpuw hwlqnyglbpnd uyuwuybihp
qmuu tjwdnunGtipp:

D hw(gniyjgnid uyuwuynn Gjwininp hwjwuwn |

8.5% 0.75+0x 0.25 = 6.375 (114 W),
hull vyuwuythp qnin Giwdinunp’
6.375-1=5.375 (116 wu):

E hwlgnijgnid uyyuwuybihp qnin tjuwdinunp hwjwuwn £ 0-h: {tnlwpuwn, 2
hwlgmjgmud wyhtwp £ pnniGh {Jd<L-h dyuydwl npnpmd, nph nhiypmd fumwgyh
5.375 141G wu gnun Gywdnin:

A huignyjgnd uyquwuynn gnin Giuwdnnp hwjwuwp

(10x 0.55+ 5.375% 0.45)-2.5 = 5.419 (416G W),

5.419 UpnwnpmpjmGp Glwinunp
wyuulq t (hwq. up)
A
/ (0.55)
UhwjG wpunw- s
npmpjul Yywlynid //' {J<-G whnwbh k 8.5
2 5 (0.45) (5.375)

5.419 //' Upunwnpnipjnilp

_-
(\ wlyunwiq sk ::— -1 0
5.375 %L 0)
\\\ 25 Unw(g {J<-h RRE 0
\ 3 dywlydw
Upnwnpnipjul L X- 2$E?%ﬁg
<d<-h dwlnui N Upwnwnpmpjnilp :
AN O wlywnuwdq k 10
B
0.55
5.375 09 2uza
(0.45) whwuwih 10
Upunwnpmpjnilp
wlyunuwlq sk
2U2-G whnwGh gk 0
q.0.6
huy B hwgmjgnud

10x 0.55+ (10x 0.75+0x 0.25)x 0.45) 3.5 = 5.375 (410 wv):
Ltulwpwnp, 1 hwlGgniygnd whwp b plnniGtp dhwyG wpnwnpujul qnpo-
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nGpwgh Wpwldwl npnynid: Gph bkl wmwnph htimn wwnpqyh, np wpnwnpnipniln
wiyunuwlq sk, wyw dnGupympymGp ubGglGh Yipwhuljvwl hwiwjupgh dywy-
dwlp L mtnunpdwGn:

Upunuwnpulwb qnpoplpwgh P wliyunuwignipjul hwjwlGwlwlnpniGhg julu-
Jwd' htimwgnuntilip pGyniGywo npnpuwl qquniGnipjnilp: Lotlp, np A L B hwG-
gnijgGpmd uywuytithp qnun GluwinuunGbpp dhijwlg wnm dnn GG L hwiwww-
nwufuwlnpbl hwjwuwn 66" 5.419 L 5.375 416 wu: L<Eunlwpwnp' P =0.55-h:

P-h juiwjwlwl wpdtiph ghypnid A hwlgniygnd uywuybtihp qmun Glw-
dmwun hwjwuwnp B

10xP + 5.375x (1-P) — 2.5 = 4.625P + 2.875 (114 wy),
huly B hwGgniygnud’
10xP+ (10x 0.75+ 0x0.25)(1-P)-3.5 = 2.5P+ 4.0 (116G wu):
JwyjwuwnbgGtny tpynt wpyniGpGtpp, JumwGulp’
4.625P + 2.875 =2.5P+ 4.0,
npntnhg P = 0.529:

Ujuyhuny, tpt wpnwnpuyuwb gnpoplpwgh wiynmwiqmpyjul P hwjwlw-
JwlnipjniGp hwywuwp t 0.529-h, wuyw tpyme GpypGumpulpGtpl b Yptiptkl dhu-
(n)G gmun GYwdnunp: Gpbt P-G thnpp £ 0.529-hg, wwyw qnpoplGpwgh L yb-
pwhuljiwl hwdwlwpgh wldwl npnpndp Yptiph wytih dto gnun Giwdnon,
wjuhlpG wGhpwdtym YhGh uyqpluwlul npnpnudp hnfuwphlt] wypGupuipw-
JhGny:

Luwlh, np P = 0.529 yvwhiwGwjhl wpdtipp Jwwn dnwn k. 0.55-h6, wuyqw plnneG-
Jwo ulqplwlul npnynudp qquynil £ P-h wpdbph thnthnfudw( Giuumdwdp L P-h
wndtph GniyGhul thnpp wép uwpnn £ hwqbglt) npnpdwl thnthnfudwGp:

6. LEAYLLONMULELR DUECEEE CLSANME3UL I LARE

‘Lwhunpn pwdind pGGwnpytghlp GhipgpnuiGiph qGwhwwndiwb fulGnhpp, Gpp
npnpnid Juywglnnp, GGGny vyuwuytjhp tyuwdnwpbpnipniGhg L nhulh dtont-
pjnilhg, hwitidwmbtiny mwppbp GhipgpmuiGtphg vwyuwuybjhp wnwytjugniyG hw-
wniygGtpp, pGupnd £ gnudwpltph jujwgnyyG Gipppdwl wmwpptpuyp: Uju
fuGnhpp wldhowywlnptl Jwupwoe £ mlntuwghnnipjul dt9 hwjnlh GGp-
nppmuiGlph hwpbph pGnpnipjwG fulnnh htin:

‘LtinpgpnudGhph hwptiph dlwynpdw G L pGunpmpjul fuGnph nuuwywl pront-
dp wnwownpyyuwo t 1952 p. hwynGh mGmbuwqgtin <wpph Uwpynyghgh Ynnihg:

‘LhpnpnuiGhph thwptipp hptiGhg Gipyuwjuwglnd L wwppbp wpdtpnptinhg
Jquqijuwo hwdwhumdp, npp pnipwgqpymd L npnpwiih Gudnwptpmpjudp nt

nhuljh dwyjwpquyny: GnpoGuwyuwlimd thwpbph dLuwynpiwlG hwiwp oquwgnp-
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onui L0 hGywhtu nhujuqtpnd, wjlwbtu k] phujuwynp wpdupnptpn: Unwohl wnb-
uwyh wpdtipnpbpp pnpwgpynd GG mupbjuwl moynuuwnpmpny, L Gipgponnp
nwnpjw jud wpdbpnptiph whpuwwbndiwl dudwGwlh YtpehlG tpwfuwynpjuo
Junpgny uvnwlmd £ hGywybu Gipppwo gnudwnpn, wjlybtu £ hwiwwywunwujuwl
ywhnipwpwdhlp fud pwhp: Liwl mbuwyh wpdtpnptinhg GG, ophGwy, wWhwnw-

Juwl qupdwdwilytinm yupumwumndubpp: Gpypnpng mbuwlh wpdtpnptppn mwuppbp
atnGwpynmpmGGtph, pGybpnmpmGatph L pwdGtmhpmpynGlitph pwditnmnd-
utinG m wpdbpnptinG G6: LhpehGGhphu Glwinmwptinpnipjnilpn ywjdwlwynpjuo L
quiwuwqui gnponGGtpny L dwdwlwyh pGpwgpnid Junpnn t thnthnfuyt] dko mh-
pniypnid: Ldwl wpdbpnptinh tjwinwptpmpim p wwunwhwyw6 dtompma t
L pGnpnpynid £ pwfudwl $niGlyghwyny, shohG wpdbtpny nt gpjwopny:

‘LhpnpmuiGtph thwpbph pGupmpjuG Uwpymjhgh wtumpjniGp hpdGmy b hb-
wnlgw) nunypltph Yypw:

Ohujuynp wpdtipnptph GBluwdnwptpnipniGp mGh pGuwywlnG (Gnpdwy)
puwpfujwonipynil L pnipwgnpynud t hp dhohG wnpdtpny mt ulnGuwlyw tndwdp:
dwiwlwyh t=0 ywhhG GipnpnnG niGh npnpuwyh C gnidwn, npp Gw ywwmpwuw
npnuwih dwdwlwyny, npp Ynyymd L thwpbiph whpwybtndwl dwdwlul,
Gpnptym wmwpptn wpdtpnptinphg pwunugwo thwpbph dto: Glpunpynud t, np
whpuwybtniwl dwdwlwlh YytipohG thwpbph pninp wpdtpnptinn yudwnynd ta:
‘Ldwl tipwnpnipyniln pnyp £ mwihu hwptiph pnipugnpbpp himwqnnty dhuyG
it mhpwwybndwb dwiwluyh ppwgpniy:

‘Ltipgpiwl npnynid JuywgGhihu Ghpnponp wtnp t hwyyh wnbh, np hGswtu
wnwldhG wpdtpnpbph, wjliuybu b gpuighg juqiwo thwpbph Giwdnwpbpni-
pmnilip wuwunmwhwwl vtompyma t, npp GnyyGubu niGh Gopdwy puwfujuonpnil:
‘Ltipgpnnp Jupnn £ =0 uyqplujul wywhhG qGwhwwnt] nwpptp wpdbpnptph
dhohG GwinwptpnipniGl nt yulnGwlywl ptnnmuip L npnymd jujwg bty ngpulp
thwptiph dt9 Ghpuwnbtm Ytpwptpjw: Opubtu GipgponudGhph hwpbpltph qGw-
hwniw6 swihwGhyGtp, ogqunugnpoynid GG ngpulg vhohl Gwimwpbpnipniln L
UhohG pwnwyniuwjhG 2tnnudp’ nhulyp:

OnhGuwl 7: Ghgnp” GhpppnnhG wnwownpyyuwo b6 tpynt’ A L B tpyplunpwi-
pwjhG thwpbpltp: A thwptiph muptwl vyuwuybihp Gyuwdinmwpbpnipmbp 8% t,
hulj B thwptiphGp 12%: dwptpnud Gtpgpynn gnudwpp juqdnd £ 100000 wu:
‘Lhipgpiwl dwdytnp, wyuhlpl thwpbph mhpuybndwl dwudwlwyp, hwjwuwn
E uty mwupju: 9w Gulwymy b, np vt mwph httmn A thwptiph nbypnd Ghp-
nnnnp JunwGw 108000 wu, huy B-h ntiypmd® 112000 wu: Gpt Ghipnpnnp hwpyh
wnlh dhwjl uvywuybtjhp tywidninp deompynbp, wyw wyGhwjnm b, np G
YGwfupluph B thwplipp:
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Qhgmp' A L B thwpbipltiph tjuwinwpbpnipjul JuGnGuwywl ptnnuiGhpp
hwiwywunwuhuwlnptG hwjuwuwp GG 10%-h L 20%-h: bGswbtu Gplnd E unnpl
pipdwo 19-pn winynuuwyhg, Gipnpnnp B thwptiph niypnid 0.02 hwjwlwwlni-
pjudp vk wwph htin Junwlw 70000 wyi-hg yulwu gnuiwn, huy A thwptiph
ntiypmd 70000 wui-hg wuwwu gniiwp vnwluwnt hwjwlwlwlnpniip hwjw-

uwp £ qpnjh:
Unjniuwy 19
Swpqw tpohl Swpw dwljwpnulhg guon
unwgytijhp gnuiwpp | gnuiwp unwGwim hwjwlGwlwGnipjnilp

(Shuijnp) A thwphip B thwiplip
70000 0,00 0,02
80000 0,00 0,05
90000 0,04 0,14
100000 0,21 0,27
110000 0,57 0,46
120000 0,88 0,66
130000 0,99 0,82

‘LG Ytipy B thwptiph nhiypnid Ghpnpnnp 80000 dhwiynphg guonp gnidwp
JunwGw 0.05 hwjwlGwwlnipjuwdp, hul A-h niygpnid GiwG ywwmwhnyph hw-
Juwlwywbnipjnilp nupdjuw) hwjwuwnp £ qpojh:

Gpt pwupnmbGutlp Ytpmot] wnniuwyp, wyw Yumbultlp, np Ghpgponp B
thwptiph nhypnid 0.27 hwjwlwywlnpjudp Jupnn £ unwluyg 100000 wui-hg
wwlwu gmuiwp, huy A-h ghiypnid Gdwl ywwmwhnypl niGh dhwjl 0.21 hwjw-
GwlwlnpniG: Lwbh np GhipgponG nGh ppudkip 100000 wu uyqplGuywb gni-
dwp, wyw ngu Guwlwynd E, np Gw B thwptph nhypnid wyth dko™ 0.27 hw-
Julwlwlnipjudp Junpnn £ unwlw] pugwuwluwl wprynilp, pwl A-h nhiypnd®
0.21 hujwGwwlnpjudp: b ytipon” wnmuwyhg htimlmd t, np A thwpbpp yuw-
Juwu nhuljuynp t, pw@ B-G, L Ghpnpnnh hwdwp Yunpnn k hGs wgbih GujupGuntgh:

‘Utingpnnh Ynnihg A Juwy B thwptiph pGunpnipymbp yuugwo t Gub Gpu G-
fuwyuwwnympjmbGGtphg, npG £ Gpw hwdwp GufupGuptih' nhuyh nhdb®p, pt®
thwdunwptipnipniln: <wpgunyGtipmd Gapwnpynud &, np tpynt hwptipGhiph tw-
dpnwpbtipnipyniGGepl b mGeG Gnpiw) pwpfujwonipjniG:

Ujuyhuny GepnpnudGhph thwptiph pGunpmpjwl fulnhpp wnptih £ dLwlytp-
Wt nputu tplyywthwlhy oyumhdwgiw fulinhp:
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7. UsSNra-NAuUuUL LUrsGr

1. Nypt°p GG pGnniGnud npnynidGhp:

2. PBhtpbtp npnynudGtinh yuwjwgdwl opphGwyltp dtp wnonjwjhg:

3. [Jupybp gnpoGwlulnd oqumugnpoynn npnynudGtph Juyjugiwb swthwbhy-
Gtpp:

4. BGsn™ GG mwppbpymd npnpymdGtph jujugiwl dwpuhdwpup b dwpuhthGh
swthwGhp Ghpn:

5. bhGsn®y GG mwpptpynud npnpnuiGhph Yuywgdwl Gnipdhgh thnfughemdwjhG
swihw(hy L wnwytjugnyyG hwjwliwywlnpjul swuthwhn:

6. Npn°Gp GG nhuyh qGwhwuniw G JhonmpmGGLpp:

7. ‘Lhwnpwqgptp npnynudGtph pyniGiwl wnnuuwluihl tnuwiwyp:

8. ‘Lwpwqgptp npnynudGtph pnniGiwl ownh tnuGwyn:

9. bhGs;wb’u tl qgGwhwwnny npnyiwG hwjwuwh (hGhn:

10. b°Gy & GipppmdwghG thwpbpn:

11. Quuytinytp GepnpniiwghG thwpbph (wjupyiwl (owyumhdwgiw)
tulinhpGtpp:

SGwjh6 wlowmwuGp

luGnhn 1: <wgh thninp Judwnph hwdwp pfuntd t juguwp: ULy jwdwh hGpGup-
dtipp Juqunud t 20 gpud, L Judwnynd E 30 npudny: Unjnuuuymd pipduo GG
Jtipoht 2wpwpw plipugpnid jwyjwzh ywhwGownyh uwjwGpp:
Onwuwl wwhwGowpyp (hwqup hwwn) 10 12 14 16 18
Ontinh phun 2 3 10 10 5
Gpb jwjw)n sh yuwdwnyby, wyw thnw6 yGwup vkY jugwh hwdiwp juquind
t 15 gpud:

Oquuwugnpotny npnpnudGtinh pnniGiwl tiudimunbtph’
= Jwpuhdiwpuh,
* UwpupdhGh,
=  hGwpwynp YnpniunGtiph dhGhiwpuh,
* Gmpyhgh thnfughgmiGtiph,
= Ulhoh wthunuwGpGtinh
surthwhpGhpp npngt, pb thniep opwjwG puGh jwjw) wbwp t pfuh:

luGnhp 2: «Uhu» pGybtpmpinilGp pnpupymd L mbuwuynp quptignip, npG
wnwpynd k10 thnpwlng mwunibpny: Guptonipp ywwmpwuwmynid £ hwwnndy
wbfulnnghwGtpny L ywwwuyhpwwniGtinhG . wnwpynd jnipupwlymip Gpyni-
2wpph: Upnwnpnipjwl ik oquugnpdynn pwnuwnphyGtph winpuynpjub nbw-
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pnid funnwynid t pwpwpyw plpwgpind wpnwnpjud wipnng fuipwpuwlwln:
Uty thwip qupbgnh yuwdwnph qhlp 75 ngpwad £, hull wpmwnpnipjw6 thnthnfuntG
owhuubipn Juquind GG 40 npud: Lwlh np dwnwupupnidGiph dwpunnniudp Yu-
nnn L hwqbliglty qGnpnGtph npn? dwuh Ynpunp, wyyw, hwpyh wolbny pnmyw-
Juwiwl dpguygnipynilp, «Uhup» unhyygwo t 1. quptioph ghlp hetiglty 10 npw-
uny: dtinohl 100 pwpwpltinh pGpugpmu quptioph wwhwGownyp tinky L juym L
Juquity £
Qunptoph wwhwlownpyp (nmwlwn) 5 6 7 8 9
Cwpwpltph phyp 10 20 30 15 5
w) Oquugnpotny npnynuiGtph plyniGiwl mwppbp JulnGatip b swhwGh)-
Gtp, npnpby, pt Ghwl hpwyhdwynd hGy yhwp  dinGupyh «Uhu» pGYytpnipynGp:
p) LGnmwgnuntip plnyniGyuo npnpmiGhph qquyniGnipynilp: UpnkG pGgnGwo
npnpnudG wpnynp Ythntuyh®, tpk 11. quptoph Judwnph ghGp hwuGh 175 npudh:
hoGnhp 3: {wiwlwnghyGph «Lny» pGytpmpjwl nyuyujupdiwl pwdhGp
hp ntyuwywpmpjulp Ghpluwjwgpty © qlGhph tpbp wwppbpwlGbph nhwypnid
opwqnptinh thwpbtpltph vywuybihp vywniwG dwuhlG ulihwnmbunidGbpp (nbu
unnpl wniuwynd pipduwd wmyjwyGbpn:
CGaytpnpjul nmwptul hwumwwmniG swhuubpp Juquind GG 20000 wd, huy
Uty thwptiph hwiwnp hnthnfum G dwjuutpp® 400 wu:

Uty hwiwlwngqhsh hGupwynp ghGp (wd) 80 86 88
Lwjwwuntuwlwb owduwiGtpp (hwptip/muwnh) 160 | 140 | 125
UikGwhwywGwyuwb owywilbpp (hwpbp/nwnph) 140 | 125 | 120
Lnnbtnbtuwlwl owyuwGtpp (hwpbp/nwnh) 100 | 80 60

Npnpt opwqntiph thwptiplGtinh hwiwp pudwgniyG ghGp:

IuGnhp 4: Udnwip qpnuwppohlGtiph phyp UlwGw 16h hwlquuywl qnunnid
Yuipniy wand k: <wpyh wnGhny ywhwbownyp, «Ulwb» pGytpnipniGp gulGyw-
(mu L gqpnuuwppohylGtph vywuwpyiwl hwiwp hwlquunjuwl gnunmd Junnighy
pwquwhwny hynipwlng: CGYLGanpjm GG niGh Gwuwqoh hpwljwlwgiwb hwdwn
wlhpwdt)m gnuiwnpltp L wbwmp £ npnph Junnigynn hynpwlngh hwdwpGph
pwlwyp: {wplwl hympwlngGtph L qpnuuwypohympjul wy pGYtpnipniGGph
hwipgnuiGtinphg wmGophGnipjnilp wuwnpgty L hynipwlingh hwdwplbiph wwptlw
dhohlG wwhwGowpyh pytipp” R = (0, 10, 20, 30, 40, 50 ):

dhlwluwyuwb YytpnionipyniGhg htinn mGoptln npnynud L pGGwnpYdw6 ity
Juwnnmgynn hjnipwlngh hwdwpltph pwGwyh htnlgw) mwpptpuyttpp. S = (20,
30, 40, 50): R-h L S-h mwupptin wpdtpGhph nbypnid phpiwgh mwpbiub Gyw-
UnunGtph wpdtpltipp pipdwo GG wnnuuwyniy:
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R=0 R =10 R =20 R =30 R =40 R =50
S=20 -121 62 245 245 245 245
S=30 -168 14 197 380 380 380
S =40 -216 -33 149 332 515 515
S=50 -264 -81 101 284 467 650

Oquugnpotyny npnpnmiGtph plnniGiwl mwppbp swihwlhyGtp npnptp u-
nnigynn hjmpwlngh hwdwnpbGtph jujugniyG pwbwyp: <wdwpltph ywhwlown-
Up b hwjwlGuwyuwlnmpmGGtpp phipwo GG wnniuwyniy:

Muwhwlownly 0 10 20 30 40 50

{udJw GwlywlnipniG 0.01 0.09 0.2 0.3 0.3 0.1

UGhpwdtpwn Lt npnpt) witwhwjwlwywb tjwdnunh L dhohl GYwdninh
swihwlhGtpny Junnigynn hynipwlngh hwdwpGtph jwjwagnyyG pwlGuyp:

TuGnhp 5: Uty 416 npud GepnGtnt mwpptpuyGtph pGawunpliwi fulnpulpnyg
Gtnpnpnnp nhuty t «Lgmy» funphppunywui dinGwpympyjwln: Cnlyuwjwgwnp-
dwl mumiGwuhpmihg htin vyuwuwnpyywihl wowownpyyty GG Ghpgpiw( Gpynd
U L & mwpptpwyGbn, npnGghg” U-G nhujuynp &, huy 8-G° nhujuqtind: U mwp-
ptpwyp Gwuwwntumy E hGwpwynp Gludinmnh mwppbpuyGep’ 8%, 10%, 12%,
uwlwjG Gipnpiwl nnpunGtph jmpuwhwnnpmGiiph ywwdwnny wnwohl b
tpypnpn mwphGtph ByuwinunGtph dhol gnymipjnil niGh npnpwih hwpwpbtpuwy-
gnipjnil, nph gnpowyhgGtipp pipdwo GG unnpl wnyniuwynud:

Unwohl mwpyw pninp tptip mwppbpwlytpp hwjwuwpwhwywGwlw6 Ga:
£ nmuppbpwp Gwhwmbumd L nwpbud 9.5% tuwdnin: {wpduplyGtph dwdw-
Guwly Junbh L hwpybpp wlnbtub: UaYwiu pGupdwo mwpptpuwyhg, Gipgpouip

Unwohl wwph | Gpypnpn wiwph

8% 10% 12%
8% 0.6 0.3 0.1
10% 0.2 0.5 0.3
12% 0.1 0.2 0.7

1. {piGytny uywuynn GuwinunGtph gnidwpwjhG wpdtiph Ypw, GapnpnnhG
wnwownlt] jwjwgni)G mwpptpuyp:
2. hGywyhup®” hwjwlwuwlmpjudp 2 nmwpptpuyh Gyuwdnonp YipGh wybih dGo
pw( U-hln:
IuGnhp 6: GGapunptlp’ nnip nillp 1 6160 gpwih wpdtpninp L whwp L npnynid
Jujwgltp’ Jwdwnt], pt squdwnt): Gpt udwnb], wyw' pnnpp, pt® dh dwup,
(n°np dwup): buy gmgt qGh; Lu 500 hwqup npudh Gnp wpdbpnptin:
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hGswyhup® npnpnd nmip YpGnniGhp, npytiugh wnwytjugnyyGh hwugGhp dtip
twuinunp, tpt hwjwmGh b, np wpdtpnpbph 2nijujuwyuwi qhGp 0.6 hwjwGwlw-
(inipjuip wdtint &, huy 0.4 hwjwGwlywlmpjudp Gjuqbin t:

luGnhp 7: dunGwnpynipjul ymywjh htnmwgnundwl pwdGh Juphsp pGGup-
ynud k Gnp wpmwnpulph yuwdwnwhwlGiwl hGwpwynpmpjnGatpn:

‘Lw whwp L npnph.

w) Upnwnpubph qudwnpn tpwpfuwynpty wnwlg pnijujh htnmwgnundw,

p) Lwjuwybtiu htimwgnunty ynul, htinn JujwgGt) npnynidp,

q) {pwdwnyti Gnp wpnwnpuiph poqupdwl gunuthwphg:

Cnijujh htnmwgnuniw G owjuutinpn YyuqutG 1 §6 gpuy, Judwnwhwiiwb
owfuubtpp dnwnn 2 U6 gpuyd: UpnwnpnipjnitGhg hpwdwpytint ghiypnd YubGwjygh
dnun 2.5 416 npui: Unynuuwynud pipdwo GG Judwnph owjwih hwjuwGwlwini-
pymGGtphG ytpwptipnn myjwGtn:

Jdwdunph Cnijul  sh Qpuwl Puguuwljwi

owjuwin htimwqnunytig wwunwuhuwl |yuumwuuwb
Pwndp 0.2 0.4 0.1
Uhoht 0.4 0.4 0.1
Swon 0.4 0.2 0.8

PwdGh Juphsyp hwdwpnd t, np pwpénp, dhohlG L gwop owjwih Juwdwnph
ntypmy dtinGuwpympjul hwiwjuwnl tyuwdnunp YihGh hwiwywnwujuwlw-
pwp 10, 5 L 2 416 ngpw:
blswt®u Jupyh pudGh Juphyp:
luGnhp 8 dwdwnwlwlp hp fvwlmph hwdwhnpnGtph yuppl nwuniilw-
uhptijhu hwGqb) £ wjl igpujugnipjwln, np Gpulg 60%-n qGnd £ mGwyhG wwy-
dwGGtpmd yunpuwunywo fudnplint, 20%-p° «<wdny uliniGny» pGYtpnipjub wp-
nwnpwip, huy dtwgwo hwdwhunpnltpp” wpnmwuwhdiwbGhg Gipypjwo wln)b-
ntG:{wdwhunpnGtph pGphwlnip pyp 40%-p hwonpn wpwp Gnphg quihu k
qlnuiGtp Juumwnbni, L GpwlGg 10%-p pnnnpnid £ mGughl gquydwGGbpmd ywwn-
puunywd fudnptntGh, 5%-n° «duding ulnilny pGybpnipjul wpunwnpuiph b
20%-p’ wpnmwuwhdw byl whntntih npuwyhg:
Qunmgt] hwjwlwlwlnpniGatph ownp W hw)yt hwjwGwlwlngpnilp, np’
= Qwdwhnpnp YqbGh mGujhG wuwpdwGatpnid yuwunpuwumywd fjudnptintl L
hwonpn wihu Yqw pnnnpbnt:

= Qwdwhunpnp Yqlh' «dwdny uGniln» pGybtpnipjul wpmwnpubpp L Yhpw-
dwnyh htimwqu qGmuGtphg:

= Qwdwhnpnp Yqw dhwyl pnnnptijm hwdwn:
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IuGnhp 9: Gwquwybpynipjul mGonhlGmpjniGp pGGawnpynd £ Gop uwnpp
qGtint hwpgn: ShGwlGuwywb qony thnfumbontGl wowownynud & 3 mwpptipwly’
*  Q.(t) Gnp uwpp 10 ¥16 npud wpdnnnipjudp:
=  ‘Unpnqb] hhG uvwppp Swhuubkiny 4416 npwd:
= CuwpnGwyt) pwhwgnpoty hhG vwnppnp:

‘Lnp uwppp 2whwgnpotnt nhypmd uywuybihp Giwinunp qGwhwwnymd k
dnun 20 016 npuy, vwywjl Juwlq Jw, np wlhpwdtpm YhGh Gnpngb, L nu
JuuwhwGoh Lu 2 G npwd: ‘Lnp uwpph Gnpnqiwl hwywGwlwinpmniGnp 0.25 t:
Gpt Gnpnqyh hpG vwppp, wyuw 0.15 hwjwlwuwlnpjudp Juwhwiegh 1 916
npuwd wpdnnnipjudp jpugnighy; wpfuwwmwlp: <plG uvwpph Gnpngnidhg htinn
uyuwuytithp tywidnunp qwhwwwmynmd k15 416 gpud: Gpt pwpnmGwytl pwhw-
gnpotip hhG vwppp, wyw Juqiuwytpynipjwl tyuwdinunp YihGh pGpudtkln 6 416
nnuwd:

hGsuhup® npnynud whwnp t pGnniGh wmGophGnipmGn:

uGnhp 10: dwuwmwpnphin ;pugltjhu unynpuwpwp ufuwgGbp G6 (hGnd wnyjwg-
GtpG wlthmpnpbl dnnpugpybnt wuwndwnny: {wjmbh b, np yuwmwhwlwln-
ntG Juipgqwo 100 thwumwpnphg 5-p wynwhuhl b Guquit] hwjwlwwlnpniG-
Gtph ownp, pninp hGwpwynp GptpG n gpuig hwjwlGwlwlnpmGGtGpp ywmw-
hwlwbnptb ytingqwo 3 thwumwpnptiph hwdiwn:

luGnhp 11: YtinGuplwumbipp Gnp wpnmwnpulp pnupytne Gywwnwyny wp-
wmwnpulph npn) pwlwynipniG hwlnd £ yniu: {<bnmwgnundwl wpynilGpGhpp
unnpl pipjwé G0 wnynuuwnud:

Jwdwnp Glwdnin (416 npu) {wjuwlwywbnipjn b

Pwnén 2.4 0.3

UhohG 0.6 0.4

Swon -0.48 0.3
Muwhwloymu k.

w) Gunnigh] hwjwlwwlmpjmGGtph ownn:

p) Gl dtnGupyumhpng jwjwuagnyG Jupybuwytpwn:

luGnhp 12: UM pGybpnipjul qupynipyniGp pGGuwpynd L Gnp wpunwnpulph
pnnupyiwl hwpgp: ‘Lnp wpnwnpulph Yyepwptipyu wihpudtym L jujwuglbg
htimlyw) npnymiGtphg vEYp
1. Uyubp wpmunpuwlph pnnupyniG nt wnwpniip yniju:
2. Guuwnt 2nyuwjh Gwhwyuwl htnwgnunn:
3. {pwdwpyt] wpunuwnpubph pnqupyniihg b thwyt] wpunmwnpmp jniln:

Cniljujh htnwgnuniw G hwdwnp wGhpwdtyw t owfuuti 50000 wu:



140 7. UnnmqnnujuG hwpgtip

Uyunnuip Juqiwltpytin hwdwp ybwmp L qlygh jpugnighy vwppwynpnid b
Juwumwnyh jpugnighy wpfuwwmwp’ 100000 wu wpdtpny: Upnwnpwip pnqupyti-
1nig hpwdwnpytjhu wpnwnpmpjwl nbfulnnghwl yudwntint ghiypnid pGybkpne-
pyniln YJwuwmwyh 250000 wu:

Cniljujh htimwgnunuip Junpnn E npujul jud puguuwul qGuwhwunwul
nw wpnunpulph pnqupiwl dwuhl: Upnwnpuiph Judwnph owjwih hw-
JuwlwlwlmpymGGtiph qGwhwunniltpp, yuujwo Gpwlhg, pt pnijwjh hbnw-
qnuumu juwwumwnyty k, pb ng, unnpl pipdwo G6 wnymuwynud

Jwdwnph owjuwp L Cniljul sh Qpuyul Puguuwlui

hwunijpp wyu htimwqgnuyty wwwnwufuwl wwwnwufuwl
Puwpép 1000000 0.2 0.3 0.1
UhohG 500000 0.3 0.5 0.1
Swon 200000 0.5 0.2 0.8

bhGswhuh® npnymd wtwnp b jujwglGh qupsnipniGn:




